Technical Handbook
2007

Compression fittings

and clamp saddles

GEORG FISCHER
+GF+ PIPING SYSTEMS



+GF+



Table of content

(G-

Page
POLY16 Plus Compression Fittings technical information 5
POLY16 Plus Compression Fittings components and detailed notes 6
POLY16 Plus Compression Fittings assembly instructions 7
POLY16 Plus COMPRESSION FITTINGS RANGE 8
POLY16 Plus Clamp Saddles technical information 33
POLY16 Plus Clamp Saddles assembly instructions 34
POLY16 Plus CLAMP SADDLES RANGE 35
POLY16 Plus Tapping Saddles technical information 43
POLY16 Plus Tapping Saddles assembly instructions 44
POLY16 Plus TAPPING SADDLES RANGE 46
POLYFAST AZ Compression Fittings technical information 52
POLYFAST AZ Compression Fittings assembly instructions 53
POLYFAST AZ COMPRESSION FITTINGS RANGE 54
POLYFAST AZ Clamp Saddles without reinforcing ring technical information 59
POLYFAST AZ CLAMP SADDLES RANGE 60



POLY16 rius

',A\

Compression
fittings
and clamp

saddles
T



POLY16 Plus Compression Fittings

Technical information

Materials

Body, Thrust ring:

polypropylene copolymer stabilized (PP-B), UV
stabilized

Nut:

polypropylene copolymer stabilized (PP-B) with Master
Batches UV stabilized (Grade 8, ASTM D2565, 1-8)
Clamp ring:

Acetalic resin (POM)

Gasket:

Food safe rubber (NBR and special NBR KTW
approved); 70 sh

Reinforcement ring:

Stainless Steel AISI 430 (for female thread from
1"1/4 to 47)

Colour

Body, Thrust ring, Rubber: black
Nut: blue (RAL 5012)

Clamp ring: white

Standards

For PE pipe:

DIN 8074; EN 12201-1/2; AS/NZS 4130; BS 6572;
ISO 4427; UNI 7990; UNI 9561; 1SO 13460, 1SO 12162
Threads:

ISO 7-1; DIN EN 10226-1; BS 21; AS 17221
Flanges:

DIN 2501.1; DIN 8063-4; ISO 7005-1 - AS/NZS 4331
Test Standards

ISO 14236; DIN 8076-3; AS/NZS 4129 , BRL K534/03 -
UNIEN 712 - UNI EN713

UNI EN715; UNI 9561

Nominal Pressure PFA (PN):

See single article tables

-
=
)

e

Fittings should be stored protected
from ultraviolet radiations

Working temperature range (C°): -10° +45°

Relation between working pressure and temperature

TEMPERATURE (C°) -10°/ + 25° +26°/+35° +36°/ + 45°
PFA* (PN) 16 12,5 10
PFA* (PN) 12,5 10 8
PFA* (PN) 10 8 6
PFA* (PN) 6 4,5 N.A.

* In accordance with EN805

Sanitary

Compression Fittings suitable for drinking water according to standards and regulation currently in force in Italy
(Circolare n. 102 - 02.12.1978 Ministry of Health and DM -21.03.1973), D.M num. 174 - 06 Aprile 2004, Germany
(Mitteilungen aus dem Bundes-gesundheitsamt, 108./109. Mitteilung BGAKTW-D2), United Kingdom (BS6920],
Netherlands (KIWA Regulations for ATA), USA (NSF/ANSI 61), Australia (AS/NZS4020).

Hungary
Finland Jtal
Germany Y

1l; O

Australia

Netherlands Sweden

kiwafll [SITAC

Denmark

USA

United Kingdom Poland , Norway Switzerland
wers Gy M\oveoronm | [ gmsew
R I T = w
List of abbreviations
BS British Standard DN Nominal diameter
DIN Deutsche Industrie-Norm PFA (PN]  Working pressure allowable
ISO International Standardization Organisation kg weight in kilogramm
PP Polypropylene SP standard package (bag)
PE Polyethylene GP Gross Pack (cm. 59x25x41)
NBR Nitrile butadiene rubber R Conical Male thread
d Pipe outside diameter Rp Parallel female thread

+(5F+ 5



POLY16 Plus Compression Fittings
Components and detailed notes

A complete range of compression fittings allows assembly on all  4) The nut in light blue polypropylene offers an outstanding resist-

types of polyethylene pipes (PE HD, PE LD, PE 80, PE 100) and PEX-a
with no need to disassemble the fitting. After loosening the nut, the
pipe can be inserted directly to the pipe-stop (Push-fit type).

1)

2)

The body, in black polypropylene, is designed and manufac-
tured as a unique modular construction with axial reinforce-
ments. The production batch number is on every body thus
ensuring easy traceability.

The thrust ring, in polypropylene, applies pressure on the lip gas-
ket after the nut has been tightened thus allowing an ideal com-
pression of the gasket on the pipe.

The thrust ring grips the body so that it cannot be lost in cases
where disassembling of the fitting is required.

2’) For fittings @ 75-90-110:
The polypropylene thrust ring defines, while tightening the nut,
the compression of the spring gasket (see pt. 5°).

3) The floating split ring, in polyacetal, allows perfect resistance to

possible pull-out forces without having a negative impact on the
tightness of the fitting.

From @ 16 to @ 63

.'J

?
3

Qasket

ance to impact. The nut is perfectly resistant to UV rays, too.

5] The only fitting with “pre-lubricated double lip-gasket” in NBR

patended by Georg Fischer allowing to overcome: oval - scratched
- undersized pipes.

The double lip gasket assures in course of compression a perfect
adherence to the pipe as it covers widely its surface and conse-
quently a constant seal over the full life-time of the fitting. The
double lip gasket grants high resistance in case of vacuum and/or
suction, too.

5’) For @ 75-90-110:

A fitting with spring gasket that simplifies and speeds up the
insertion of the pipe assuring a perfect and constant seal and
resistance to the internal pressure even in case of
oval/scratched-undersized pipes, thanks to the particular shape
of the gasket that covers a wide surface of the pipe. The lip-shape
of the inferior part of the gasket allows its optimal placing into
the seat of the body and the constant keeping of its position dur-
ing the time granting a high resistance also in case of vacuum
and/or suction.

From @ 75to @ 110

-+
Spring gasket

+GF+



Poly16 Plus Compression Fittings
Assembly instructions

016 -63

Before proceeding with the assembly, please check the presence of all components (seal, thrust ring, split ring).

1.

2.

Cut the pipe square and deburr it. Grease the seal, in case it is dry. Partially unscrew the nut.
Mark the insert depth on the pipe (see table: insert depth).
Push the pipe into the fitting through the split ring until the first stop, meaning you have reached the seal.

Push the pipe through the seal until you reach the pipe stop of the fitting. Check the mark of the insert depth on the pipe for
correct assembly.

Tighten the nut as tightly as possible. Manual or mechanical tightening of the nut (using the +GF+ tool or a standard wrench)
until diameter d 32. Mechanical tightening of the nut (using the +GF+ tool or a special wrench) from diameter d 40.

@75-110

Before proceeding with the assembly, please check the presence of a all components (gasket, thrust ring, split ring).

1.

Cut the pipe square and deburr it. No chamfering. Unscrew partially the nut.

2. Push the pipe into the fitting until you have reached the pipe stop.

3. Tighten the nut as tightly as possible with the +GF+ wrench, or a special wrench for fittings.

i == =

INSERT DEPTH
1] mm
16 45
20 45
25 50
32 55
40 70
50 75
63 95

+GF+ 7



POLY16 Plus COMPRESSION FITTINGS

Male adaptor

® active sealing system (with thrust ring); d16-63 double lip gasket; d75-110 spring
gasket

installation without disassembling

suitable for PE and PEX-a pipes

water PN16

material: PP

gasket: NBR quality for drinkable water

male thread: ISO 7 (conical)

colour: blue-black

" " d R PN |Code d1 |d2 |L L1 |L2

[mm] | [inch] [mm] | [mm] | [mm] [[mm] |[mm]

16 V2| 16|727 926 329 22| 46| 76| 20| 58
16 Y| 16|727 926 330 22| 46| 76| 20| 58
20 2| 16727 926 306 22| 46| 76| 16| 56
20 % | 16|727 926 333 22| 46| 77| 15| 55
20 1| 16|727 926 332 22| 46| 79| 15| 55

25 V2| 16|727 926 337 28| 57| 80| 18| 62
25 % | 16|727 926 307 28| 57| 82| 18| 62
25 1| 16|727 926 336 28| 57| 86| 18| 64
32 Y| 16|727 926 341 34| 67| 89| 20| 68
32 1| 16|727 926 308 34| 67| 92| 20| 68

32| 1%| 16|727 926 340 34| 67| 94| 20| 70
32| 1%| 16|727 926 339 34| 67| 93| 20| 68
40 1| 16|727 926 346 44| 82| 113| 28| 87
40| 1%| 16|727 926 309 44| 82| 115| 28| 87
40| 1%| 16|727 926 345 44| 82| 115| 27| 87

40 2| 16|727 926 347 44| 82| 115 27| 87
50 1| 16|727 926 353 54| 93| 125| 30| 99
50| 1%| 16|727 926 352 54| 93| 127| 30| 99
50| 1%| 16|727 926 310 54| 93| 126| 30| 99
50 2| 16|727 926 351 54| 93| 132 30| 99

63| 1%| 16|727 926 358 65| 117 | 154| 41| 119
63 2| 16|727 926 311 65| 117| 156| 41| 119
63| 2% | 16|727 926 357 65| 117| 160| 41| 119
75 2| 16|727 926 364 77| 134| 177| 56| 138
75| 2%| 16727926 312 77| 134| 178| 56| 134

75 3| 16|727 926 363 77| 134| 178| 56| 136
90 2| 16|727 926 371 93| 160| 205| 68| 168
90| 2%| 16|727 926 372 93| 160| 210| 68| 168
16| 727 926 313 93| 160| 210| 68| 168
16 | 727 926 369 93| 160| 216| 68| 168

3
4

110 3 16| 727 926 376 113] 181 226| 71| 178
4| 16|727926 314 | 113| 181 | 231 71| 178

8 +GF+



Flanged joint with metal flange

active sealing system (with thrust ring); d16-63 double lip gasket; d75-110 spring

gasket
® suitable for PE and PEX-a pipes
e installation without disassembling
e water PN16
® material: PP
® gasket: NBR quality for drinkable water
e flange: steel
® colour: blue-black
d DN |[DN |[PN |Code dl |d2 |d3 |d4 |L L1 |L2
[mm] | [inch] | [mm] [mm] | [mm] | [mm] |[mm] |[mm] | [mm] | [mm]
50| 1%| 40| 16|727 706 350 54| 93| 150| 110| 170| 36| 100
50 2| 50| 16|727 706 351 54| 93| 174| 125| 170| 36| 100
63 2| 50| 16727706 311 65| 117 | 174 | 125| 193 | 48| 126
63| 2%| 65| 16|727 706 357 65| 117 | 185| 145| 195| 48| 127
75| 2%| 65| 16|727 706 312 78| 134 | 185| 145| 197 | 104 | 185
75 3| 80| 16|727706 363 78| 134| 200| 160| 197 | 82| 162
90 3| 80| 16|727706 313 93| 160| 200| 160 | 232| 65| 166
90 4| 100| 16|727 706 369 93| 160| 220 | 181| 232| 65| 166
110 4| 100| 16|727706314 | 113 | 181| 220| 181 | 239 | 107 | 220

Shouldered adaptor type Victaulic

active sealing system (with thrust ring); d16-63 double lip gasket; d75-110 spring
gasket

e jnstallation without disassembling
® suitable for PE and PEX-a pipes
e water PN16
- . ® material: PP
| e gasket: NBR quality for drinkable water
s I J i ' = e colour: blue-black
N | d |Code L L2 [d2 [d1 [L1 [d3 a4
[mm] [mm] | [mm] | [mm] |[mm] |[mm] | [mm] | [mm]
50|158 001877 | 140| 105| 93| 53| 30| 59| 66
63158001878 | 165| 130| 117| 65| 50| 59| 66
110|158 001 879 | 230| 170| 181 | 113 | 48| 112| 122
+GF+ 9



Female adaptor

(*) with stainless steel reinforcement ring AlSI1430
active sealing system (with thrust ring); d16-63 double lip gasket; d75-110 spring
gasket

e installation without disassembling
e suitable for PE and PEX-a pipes
e water PN16
® material: PP
e gasket: NBR quality for drinkable water
e female thread: ISO 7 (parallel)
® colour: blue-black
d Rp PN |Code d1 d2 L L1 |[L2
[mm] | [inch] [mm] | [mm] |[mm] [[mm] |[mm]
16 2| 16727 916 329 22 46 78| 15 54
16 %| 16727 916 330 22 46 78| 13 52
20 2| 16727 916 306 22 46 78| 17 58
20 % | 16727 916 333 22 46 78| 16 57
25 Y| 16727 916 337 28 57 86| 18 61
25 %| 16|727916 307 28| 57| 86| 18| 61
25 1 16| 727 916 336 28 57 86| 18 61
32 Y% | 16727 916 341 34 67 95| 20 67
32 1 16| 727 916 308 34 67 95| 20 67
*32 1%| 16727 916 340 34 67 96| 20 67
40 1 16 | 727 916 346 44 82| 111| 28 87
*40 1%| 16|727 916 309 44 82| 116| 28 87
*40 1%| 16727 916 345 44 82| 116| 28 87
*50 1 16727 916 353 54 93| 123| 30 99
*50 1%| 16727 916 352 54 93| 129| 30 99
*50 1%| 16727 916 310 54 93| 128| 30 99
*50 2| 16|727 916 351 54 93| 133| 30 99
*63 1%| 16727 916 358 65| 117 | 158| 51| 128
*63 2| 16|727 916 311 65| 117 | 161 51| 128
*63 2%| 16|158 001 728 65| 117 | 162| 46| 122
*75 2| 16|727 916 364 78| 134| 169| 56| 136
*75 2% | 16|727 916 312 78| 134 | 174| 56| 136
*75 3| 10[158 001729 78| 134| 174| 56| 136
*90 2| 16|727 916 371 93| 160| 196| 55| 155
*90 2%| 16|727 916 372 93| 160| 210| 55| 155
*90 3| 10|727 916 313 93| 160| 196| 55| 155
*110 3| 10|727 916 376 113| 181| 215| 48| 170
*110 4| 10|727 916 314 113| 181| 215| 48| 170

+GF+



Coupling

active sealing system (with thrust ring); d16-63 double lip gasket; d75-110 spring
gasket

® nstallation without disassembling
e suitable for PE and PEX-a pipes
e water PN16
e gasket: NBR quality for drinkable water
® material: PP
® colour: blue-black
d PN |Code dl |d2 |L L1 |L2
[mm] [mm] | [mm] |[mm] |[mm] |[mm]
16| 16|727 906 305 22| 46| 114| 55| 14
20| 16727 906 306 22| 46| 114| 55| 14
25| 16727 906 307 28| 57| 124| 62| 17
32| 16727 906 308 34| 67| 136| 65| 18
40| 16727 906 309 44| 80| 176| 86| 27
50| 16727 906 310 54| 93| 195| 96| 27
63| 16727 906 311 65| 115| 248 | 122| 42
75| 16727 906 312 78| 134 | 278 | 136| 54
90| 16727 906 313 93| 164 | 336 | 167 | 61
110| 16|727906314 | 113| 186| 381 | 190| 71

Reducing coupling

active sealing system (with thrust ring); d16-63 double lip gasket; d75-110 spring
gasket

e installation without disassembling

® suitable for PE and PEX-a pipes

e water PN16

® material: PP

e gasket: NBR quality for drinkable water

® colour: blue-black

d-d PN |Code dl (d2 [d3 |d4 |L L1 |L2 |L3 |[L4
[mm] (mm] | [mm] | [mm] | [mm] | [mm] | [mm] | mm] | mm] | [mm]
20-16| 16|727 906 334 22| 46| 22| 46| 116| 56| 15| 56| 17
25-16| 16|727 906 335 28| 54| 22| 46| 133| 63| 21| 56| 17
25-20| 16|727 906 337 28| 54| 22| 46| 133| 63| 21| 56| 15
32-20| 16|727 906 340 35| 64| 22| 46| 130| 65| 18| 56| 15
32-25| 16|727 906 341 35| 64| 28| 54| 130| 65| 18| 59| 18
40-25| 16|727 906 347 44| 82| 28| 54| 160| 94| 34| 63| 21
40-32| 16|727 906 346 44| 82| 35| 64| 164| 94| 34| 66| 22
50-32| 16727 906 353 53| 93| 35| 64| 175 103| 34| 69| 25
50-40| 16727 906 352 53| 93| 44| 82| 204| 103| 34| 97| 38
63-32| 16|727 906 356 65| 115| 34| 64| 210 118| 38| 80| 34
63-40| 16727 906 357 65| 117 | 44| 82| 216| 117| 38| 87| 30
63-50| 16|727 906 358 65| 117| 53| 93| 216| 117| 38| 96| 28
75-50| 16|727 906 363 78| 134| 53| 93| 237| 129| 48| 100| 32
75-63| 16727 906 364 78| 134| 65| 117| 249| 129| 48| 116| 37
90-63| 16727 906 371 93| 160| 65| 117| 292| 169| 61| 107| 36
90-75| 16|727 906 370 93| 160| 78| 134| 366| 188| 87| 175| 94
110-90| 16|727906376 | 113| 181| 93| 160| 363| 188| 70| 168| 61

+GF*



90° Tee

® active sealing system (with thrust ring); d16-63 double lip gasket; d75-110 spring
gasket

e installation without disassembling
e suitable for PE and PEX-a pipes
e water PN16
® material: PP
e gasket: NBR quality for drinkable water
® colour: blue-black
d PN |Code dl |d2 |L L1 (L2 |H
[mm] [mm] | [mm] | [mm] | [mm] |[mm] | [mm]
16| 16727 206 305 22| 46| 138| 57| 13| 55
20| 16|727 206 306 22| 46| 138| 55| 13| 55
25| 16727 206 307 28| 57| 153| 60| 18| 77
32| 16727 206 308 34| 67| 175| 66| 20| 87
[ 40| 16727 206 309 44| 82| 238| 88| 27| 118
" " 50| 16727 206 310 53| 93| 259| 96| 28| 128
63| 16727 206 311 65| 117| 317 | 113| 35| 160
75| 16727 206 312 78| 134| 360| 129| 48| 180
90| 16727 206 313 93| 160 | 472| 183 | 82| 140
110| 16|727 206 314 | 113 | 181| 512| 193| 80| 260

+GF+



90° Tee with threaded female offtake

(*) with stainless steel reinforcement ring AlSI1430
active sealing system (with thrust ring); d16-63 double lip gasket; d75-110 spring
gasket

e jnstallation without disassembling
e suitable for PE and PEX-a pipes
e water PN16
® material: PP
e gasket: NBR quality for drinkable water
e female thread: ISO 7 (parallel)
® colour: blue-black
d Rp PN |Code d1 d2 L L1 L2 |H
[mm] | [inch] [mm] | [mm] |[mm] |[mm] |[mm] |[mm]
16 2| 16|727 216 329 22 46| 142 57| 18 48
16 Ya 16| 727 216 330 22 46| 142 58 19 53
20 2| 16|727 216 306 22 46| 143 58| 18 48
20 Ya 16| 727 216 333 22 46| 143 58 18 53
25 Ya 16| 727 216 337 28 57| 153 59 17 52
25 %| 16|727 216 307 28 57| 153 60| 18 37
25 1 16| 727 216 336 28 57| 153 59 17 59
32 2| 16|727 216 342 34 67| 175 66| 20 41
32 Ya 16| 727 216 341 34 67| 175 66 20 41
32 1 16| 727 216 308 34 67| 175 66 20 43
*32 1%| 16|727 216 340 34 67| 175 66| 20 46
40 Ya 16| 727 216 347 44 82| 238 87 27 53
40 1 16 | 727 216 346 44 82| 238 87| 27 53
*40 1Y% 16| 727 216 309 44 82| 238 87 27 53
*40 1% 16| 727 216 345 44 82| 238 83 24 53
*50 1 16 | 727 216 353 53 93| 260 97| 28 63
*50 1%| 16|727 216 352 53 93| 260 97| 28 63
*50 1%| 16|727 216 310 53 93| 260 97| 28 63
*50 2 16| 727 216 351 53 93| 260 97 28 75
*63 1%| 16|727 216 359 65| 117| 317| 113| 35 70
*63 1% 16| 727 216 358 65| 117| 317| 113 35 70
*63 2 16| 727 216 311 65| 117| 317| 113 35 70
*75 2 10158 001 730 78| 134| 360| 129| 48 75
*75 2% 16| 727 216 312 78| 134| 360| 129| 48 75
*75 3| 10/158 001 731 78| 134| 360| 129| 48 75
*90 3 101|727 216 313 93| 160| 472| 183 82| 101
*110 4 101|727 216 314 113| 181| 512| 193 80| 115

(G-



90° Reducing-increasing Tee
® active sealing system (with thrust ring); d16-63 double lip gasket; d75-110 spring

gasket
e installation without disassembling
e suitable for PE and PEX-a pipes
e water PN16
- i ® material: PP
e ] e gasket: NBR quality for drinkable water
= e colour: blue-black
1 p—#
=N d-d-d PN |Code dl |d2 |d3 |d4 |L L1 |[L2 |H1 |H2
e -"—q-t-E - | [mm] [mm] | [mm] | [mm] | [mm] | [mm] | [mm] |[mm] | [mm] | [mm]
s o ' 20-16-20| 16|727 206 334 22| 46| 22| 46| 143| 58| 18| 18| 57
i = 20-25-20| 16727 206 335 22| 46| 28| 54| 144| 58| 18| 17| 59
N m 25-20-25| 16727 206 337 28| 54| 22| 46| 153| 58| 17| 18| 58
'I_ F 25-32-25| 16|727 206 338 28| 54| 35| 64| 155 59| 17| 19| 65
ne 32-25-32| 16727 206 341 35| 64| 28| 54| 173| 64| 19| 21| 63
— . 40-32-40| 16|727 206 346 44| 82| 35| 64| 238| 87| 27| 21 66
50-32-50| 16727 206 353 53| 93| 35| 64| 259| 96| 28| 21| 68
50-40-50| 16727 206 352 53| 93| 44| 82| 259| 96| 28| 38| 94
63-32-63| 16727 206 357 65| 117| 35| 64| 317| 113| 35| 19| 65
63-50-63| 16727 206 358 65| 117| 53| 93| 317| 113| 35| 28| 90
75-63-75| 16|727 206 364 78| 134| 65| 117| 360 129| 48| 35| 113
90-75-90| 16727 206 366 93| 160| 78| 134| 472| 183| 48| 63| 150
110-90-110| 16|727 206 367 | 113 | 181 93| 160| 512| 193| 68| 82| 180
90° Elbow
® active sealing system (with thrust ring); d16-63 double lip gasket; d75-110 spring
gasket
® installation without disassembling
e suitable for PE and PEX-a pipes
e water PN16
o * material: PP
™= e gasket: NBR quality for drinkable water
1 1 THI1 e colour: blue-black
Hym il d PN |Code dl (d2 |L L1 [L2
- [mm] [mm] | [mm] | [mm] | [mm] |[mm]
=3 R e 16| 16|727 106 305 22| 46| 71 58| 18
20| 16727 106 306 22| 46| 71 58| 18
25| 16727 106 307 28| 57| 77| 60| 17
32| 16727 106 308 34| 67| 88| 67| 20
40| 16|727 106 309 44| 82| 117| 86| 27
50| 16727 106 310 53| 93| 128| 97| 28
63| 16727 106 311 65| 117 | 160 | 114| 35
75| 16727 106 312 78| 134| 178 | 129| 48
90| 16727 106 313 93| 160 | 235| 163 | 62
110| 16|727106314 | 113 | 181| 250 | 168| 57

+GF+



Metal wall-plate elbow

® active sealing system (with thrust ring); double lip gasket;

® suitable for PE and PEX-a pipes

e water PN16

e female thread: ISO 7 (parallel)

® material: Brass

® gasket: NBR quality for drinkable water

d Rp |[PN |Code d1 |d2 |L L1 L2 |H

[mm] | [inch] [mm] | [mm] |[mm] |[mm] |[mm] |[mm]
20 | 16720100 206 22| 46| 65| 53| 12| 55
25 %| 16720100 207 28| 57| 72| 57| 15| 64

90° Reducing elbow

® active sealing system (with thrust ring); double lip gasket;
e jnstallation without disassembling
® suitable for PE and PEX-a pipes
e water PN16
® material: PP
e gasket: NBR quality for drinkable water
® colour: blue-black
d-d PN |Code dl |d2 |d3 |d4 |L (L1 |L2 (L3 |L4 |L5
[mm] [mm] | [mm] |[mm] [[mm] |[mm] |[mm] |[mm] | [mm] [[mm] [|[mm]
20-16| 16193 281 229 22| 46| 22| 46| 77| 58| 18| 71| 58| 18
25-20| 16(193 281 230 27| 54| 22| 46| 80| 65| 21| 77| 58| 18

90° Elbow for sprinkler

® active sealing system (with thrust ring); double lip gasket;

® installation without disassembling

® suitable for PE and PEX-a pipes

e water PN16

® material: PP

® gasket: NBR quality for drinkable water

e female thread: ISO 7 (parallel)

® colour: blue-black

d |Rp |PN |Code dl [d2 |L |11 |L2

[mm] | [inch] [mm] | [mm] |[mm] |[mm] |[mm]
16 2| 16158 001 010 22| 46| 71| 58| 18
20 | 16158 001 011 22| 46| 71 58| 18
25 2| 16158 001 012 27| 57| 77| 60| 17
32 2| 16158 001 013 34| 67| 88| 67| 20
32 %| 16|158 001 014 34| 67| 88| 67| 20

+GF+



90° Elbow with threaded female offtake

(*) with stainless steel reinforcement ring AlSI1430
active sealing system (with thrust ring); d16-63 double lip gasket; d75-110 spring
gasket

e installation without disassembling
e suitable for PE and PEX-a pipes
e water PN16
® material: PP
e gasket: NBR quality for drinkable water
e female thread: ISO 7 (parallel)
® colour: blue-black
d Rp PN |Code d1 d2 L L1 L2 |H
[mm] | [inch] [mm] | [mm] |[mm] |[mm] |[mm] |[mm]
16 | 16727 116 329 22| 46 71 58| 18 50
16 %| 16727 116 330 22| 46 71 58| 18 50
20 | 16|727 116 306 22| 46 71 58| 18 50
20 % | 16727 116 333 22 46 71 58| 18 50
25 Y| 16727 116 337 28 57 76| 60| 18 53
25 ¥%| 16727 116 307 28 57 77| 60| 18 53
25 1 16727 116 336 28 57 77 60| 18 60
32 2| 16727 116 342 34 67| 87| 68| 22 60
32 % | 16727 116 341 34 67 87 68| 22 60
32 1 16727 116 308 34 67 87 68| 22 60
*32 1%| 16|727 116 340 34 67| 87| 68| 22| 47
40 %| 16727 116 347 44 82| 120 87| 27 53
40 1 16| 727 116 346 44 82| 120| 87| 27 53
*40 1%| 16727 116 309 44 82| 120 87| 27 53
*40 1%| 16727 116 345 44 82| 120 83| 23 53
*50 1 16727 116 318 53 93| 130| 97| 28 62
*50 1%| 16|727 116 319 53 93| 130| 97| 28 62
*50 1%| 16727 116 310 53 93| 130| 97| 28 62
*50 2| 16|727 116 351 53 93| 130| 97| 28 75
*63 1%| 16727 116 321 65| 117| 160| 114| 35| 70
*63 1%| 16|727 116 320 65| 117| 160| 114| 35| 70
*63 2| 161|727 116 311 65| 117| 160| 114| 35 70
*63 2%| 16|158 001 727 65| 117| 160| 114| 35| 70
*75 2| 16|158 001 732 78| 134 | 178| 129| 48 75
*75 2%| 16|727 116 312 78| 134| 178| 129| 48 75
*75 3| 10|158 001 733 78| 134| 178| 129| 48 75
*90 3| 10(727 116 313 93| 160| 235| 163| 62| 100
*110 4| 10|727 116 314 113 | 181| 250| 168 | 57| 116

wGE



90° Tee with threaded male offtake

® active sealing system (with thrust ring); d16-63 double lip gasket; d75-110 spring
gasket

installation without disassembling

suitable for PE and PEX-a pipes

water PN16

material: PP

gasket: NBR quality for drinkable water

male thread: ISO 7 (conical)

colour: blue-black

i
[
i

e o 0o 0 0 0 o

d R PN |Code d1 |d2 |L L1 |L2 |H

[mm] | [inch] [mm] | [mm] | [mm] | [mm] |[mm] |[mm]

16 2| 16|727 226 329 22| 46| 142| 58| 19| 50
16 %| 16727 226 330 22| 46| 142| 58| 19| 50
20 2| 16|727 226 306 22| 46| 143| 58| 18| 50
20 % | 16|727 226 333 22| 46| 143| 58| 18| 50
25 2| 16|727 226 337 28| 54| 153| 58| 17| 52

25 % | 16727 226 307 28| 54| 153| 58| 17| 54
25 1| 16727 226 336 28| 54| 153| 58| 17| 52
32 % | 16|727 226 341 34| 67| 175| 66| 20| 60
32 1| 16|727 226 308 34| 67| 175| 66| 20| 60
40 % | 16727 226 347 44| 82| 238| 88| 27| 82

40| 1%| 16|727 226 309 44| 82| 238| 88| 27| 73
40| 1%| 16727 226 349 44| 82| 238| 88| 27| 73
50 % | 16|727 226 354 53| 93| 259| 96| 28| 86
50| 1%| 16|727 226 355 53| 93| 259| 96| 28| 80
50| 1%| 16727 226 310 53| 93| 259| 96| 28| 80

63| 1%| 16|727 226 357 65| 117| 317| 113| 35| 80
63| 1%| 16|727 226 358 65| 117| 317| 113| 35| 80
63 2| 16|727 226 311 65| 117| 317| 113| 35| 82
63| 2%| 16|727 226 359 65| 117| 317| 113| 35| 85
75| 2% | 16|727 226 361 78| 134| 360| 129| 48| 105

75 3| 16|158 001 000 78| 134| 360| 129| 48| 105
90 3| 16|158 001 001 93| 160 | 472| 183 | 82| 132
110 4| 16/158001002 | 113| 181| 512| 193| 80| 145

+GF+ 17



90° Elbow with threaded male offtake

® active sealing system (with thrust ring); d16-63 double lip gasket; d75-110 spring
gasket

e installation without disassembling
[ 3 e suitable for PE and PEX-a pipes
e 5 o water PN16
. 4. ® material: PP
L ® gasket: NBR quality for drinkable water
I ® male thread: ISO 7 (conical)
L & ] ® colour: blue-black
d R PN |Code dl |d2 |L L1 (L2 |H
[mm] | [inch] [mm] | [mm] | [mm] |[mm] |[mm] |[mm]
16 2| 16727 126 329 22| 46| 71| 58| 18| 50
16 Y| 16|727 126 330 22| 46| 71| 58| 19| 50
20 | 16|727 126 306 22| 46| 71| 58| 18| 50
20 Y| 16|727 126 333 22| 46| 71| 58| 18| 50
25 | 16727 126 337 28| 57| 77| 63| 21 53
25 Y| 16|727 126 307 28| 57| 77| 60| 17| 53
25 1 16| 727 126 336 28| 57| 77| 60| 17| 53
32 | 16|727 126 338 34| 67| 88| 68| 22| 60
32 Y| 16|727 126 339 34| 67| 88| 68| 22| 60
32 1 16| 727 126 308 34| 67| 88| 68| 22| 60
40 1 16| 727 126 344 44| 82| 115| 83| 23| 75
40| 1%| 16|727 126 309 44| 82| 117| 86| 27| 73
40| 1%| 16|727 126 345 44| 82| 117| 86| 27| 73
50| 1%| 16|727 126 352 53| 93| 128 | 97| 28| 78
50| 1%| 16|727126 310 53| 93| 128| 97| 28| 80
63| 1%| 16|727126 313 65| 117| 160 | 114| 35| 82
63| 1%| 16|727126 312 65| 117| 160| 114| 35| 82
63 2| 16|727 126 311 65| 117| 160 | 114| 35| 82
63| 2%| 16|727126 314 65| 117| 160| 114| 35| 82
75| 2%| 16|727 126 316 77| 134| 178 | 129| 48| 110
75 3| 16|727 126 317 77| 134|178 | 129| 48| 110
90 3| 16|727 126 515 93| 160 | 240| 170| 62| 132
90 4| 16|158 001 692 93| 160 | 245| 165| 48| 135
110 3| 16(158001710 | 113 | 181 | 245| 175| 66| 142
110 4| 16|158001003 | 113| 185| 256 | 180| 60| 140
45° Elbow
® active sealing system (with thrust ring); double lip gasket;
® installation without disassembling
e suitable for PE and PEX-a pipes
e water PN16
® material: PP
= y ® gasket: NBR quality for drinkable water
Frl ® colour: blue-black
o F %" =+ d |PN [Code dl [d2 [L L1 L2
: 1_ .-I [mm] [mm] | [mm] | [mm] | [mm] |[mm]
L 20| 16727 156 306 22| 46| 65| 56| 14
25| 16727 156 307 28| 57| 74| 60| 17
32| 16|727 156 308 34| 67| 82| 67| 19
40| 16|727 156 309 44| 82| 108| 86| 27
50| 16727 156 310 53| 93| 128| 99| 30
63| 16727 156 311 65| 118 | 150 | 115| 35

wGE



45° Elbow with threaded male offtake

active sealing system (with thrust ring); double lip gasket;
installation without disassembling

suitable for PE and PEX-a pipes

water PN16

material: PP

gasket: NBR quality for drinkable water

male thread: ISO 7 (conical)

colour: blue-black

) d R PN |Code dl |d2 |L L1 |L2 |H

[mm] | [inch] [mm] | [mm] | [mm] | [mm] |[mm] | [mm]

20 2| 16|727 166 306 22| 46| 65| 56| 14| 41
25 %| 16|727 166 307 28| 57| 73| 60| 17| 44
32 1| 16|727 166 308 34| 67| 83| 66| 19| 48
40| 1%| 16|727 166 309 44| 82| 108| 86| 27| 65
50| 1%| 16|727 166 310 53| 93| 128| 99| 30| 69
63 2| 16|727 166 311 65| 118| 150| 115] 30| 85

End cap
® active sealing system (with thrust ring); d16-63 double lip gasket; d75-110 spring
gasket
® installation without disassembling
® suitable for PE and PEX-a pipes
e water PN16
® material: PP
= n e gasket: NBR quality for drinkable water
C ® colour: blue-black
------ d PN |Code dl |d2 |L L1 |L2 |L3
et [mm] (mm] | (mm] | [mm] | [mm] | [mm] | [mm]
- 16| 16|727 966 305 22| 46| 60| 20| 60| 62
- = 20| 16727 966 306 22| 46| 69| 18| 58| 62

25| 16727 966 307 28| 57| 76| 18| 63| 65
32| 16727 966 308 34| 67| 90| 18| 70| 69
40| 16727 966 309 441 82| 112| 28| 87| 93

50| 16727966 310 54| 93| 129| 30| 99| 105
63| 16727 966 311 65| 117 | 160 | 42| 122| 132
75| 16727 966 312 78| 134| 180| 56| 139| 147
90| 16727966 313 93| 160 | 220| 68| 173 | 181
110| 16[727966 314 | 114| 182| 234| 70| 184 | 195

+GF+ 19



Male adaptor with threaded metal offtake (nickeked

brass)
® (*) without hexagon
® active sealing system (with thrust ring); double lip gasket;
) ) ® installation without disassembling
. SN G e water PN16
e == G e suitable for PE and PEX-a pipes
NiE 1 e material: PP
= | —2‘ e gasket: NBR quality for drinkable water
|7, - . ® male thread: ISO 7 (cilindric); Nickeled brass
1] | ® colour: blue-black
T d R PN |Code L L1 |d2 |L2 |d1 |L3
[mm] | [inch] [mm] | [mm] | [mm] | [mm] | [mm] | [mm]
*20 2| 16158 001 569 94| 56| 46 22| 15

25 %| 16[158 001 570 115| 62| 57| 15| 28| 19
32 % | 16|158 001 571 120 67| 67| 15| 34| 20
32 1| 16|158 001 572 120| 67| 67| 15| 34| 20
32| 1%| 16|158 001 573 120 67| 67| 15| 34| 20

40 1| 16|158 001 574 146| 88| 82| 15| 43| 30
40| 1%| 16(158 001 575 146| 88| 82| 15| 43| 30
50| 1%| 16|158 001 576 162| 99| 93| 15| 53| 30
63 2| 16|158 001 577 190| 118| 118| 18| 65| 42

Male adaptor with threaded metal offtake (bronze)

(*) without hexagon

active sealing system (with thrust ring); double lip gasket;
installation without disassembling

suitable for PE and PEX-a pipes

water PN16

material: PP

gasket: NBR quality for drinkable water

male thread: ISO 7 (cilindric); Bronze

colour: blue-black

d R PN |Code L L1 |d2 L2 |d1 |L3

[mm] | [inch] [mm] | [mm] | [mm] | [mm] | [mm] | [mm]

*20 2| 16727 926 506 94| 56| 46 22| 15
25 % | 16727 926 507 115| 62| 57| 15| 28| 19
32 % | 16|727 926 508 120 67| 67| 15| 34| 20
32 1| 16|727 926 509 120| 67| 67| 15| 34| 20
32| 1%| 16727926 510 120 67| 67| 15| 34| 20

32| 1%| 16|158 001 015 132| 69| 67| 15| 34| 20
40 1| 16|727 926 511 146| 88| 82| 15| 43| 30
40| 1%| 16|727 926 512 146| 88| 82| 15| 43| 30
40| 1%| 16|727 926 516 150| 88| 82| 15| 43| 30
40 2| 16|727 926 517 160| 88| 82| 18| 43| 30

50| 1%| 16|727 926 513 161| 99| 93| 15| 53| 28
50| 1%| 16727926 514 162| 99| 93| 15| 53| 30
63| 1%| 16|158 001016 185| 124| 118| 15| 65| 42
63 2| 16|727 926 515 190| 118] 118| 18| 65| 42

+GF+



Female adaptor with metal offtake (nickeled brass)

(*) without hexagon

active sealing system (with thrust ring); double lip gasket;
installation without disassembling

suitable for PE and PEX-a pipes

water PN16

material: PP

gasket: NBR quality for drinkable water

female thread: ISO 7 (parallel); Nickeled brass

colour: blue-black

d Rp |PN |Code L L1 |d2 |L2 |d1 |L3

[mm] | [inch] [mm] | [mm] | [mm] | [mm] |[mm] |[mm]

20 2| 16[158 001 578 80| 57| 46 0| 22| 15
25 %| 16[158001579 | 100| 61| 57| 15| 28| 18
32 1| 16158001580 | 105| 67| 67| 15| 34| 20
40| 1%| 16(158 001581 | 130| 88| 82| 15| 43| 29
50| 1%| 16|158001582 | 140 98| 93| 15| 53| 30
63 2| 16|158001583 | 165| 118| 118| 20| 65| 42

Female adaptor with metal offtake (bronze)

® (*) without hexagon

active sealing system (with thrust ring); double lip gasket;
installation without disassembling

suitable for PE and PEX-a pipes

water PN16

material: PP

gasket: NBR quality for drinkable water

female thread: ISO 7 (parallel); Bronze

colour: blue-black

d Rp |PN |Code L L1 |d2 |L2 |d1 |L3

[mm] | [inch] [mm] | [mm] |[mm] [[mm] |[mm] |[mm]

*20 2| 16|727 916 506 80| 57| 46 22| 15
25 % | 16|727 916 507 100 61| 57| 15| 28| 18
32 1| 16|727 916 509 105| 67| 67| 15| 34| 20
40| 1%| 16|727 916 512 130 88| 82| 15| 43| 29

50| 1%| 16|727 916 513 140 98| 93| 15| 53| 30

63 2| 16]727 916 514 165| 118| 118| 20| 65| 42

+GF+



90° Male elbow with threaded metal offtake (nickeled
brass)

(*) without hexagon

active sealing system (with thrust ring); double lip gasket;
installation without disassembling

suitable for PE and PEX-a pipes

water PN16

material: PP

gasket: NBR quality for drinkable water

male thread: 1ISO 7 (cilindric); Nickeled brass

i — S colour: blue-black

. e (1 d |R |PN |code L1 |d2 (L2 a1 [z [H L

) '*—-'r' [mm] | [inch] (mm] | [mm] | [mm] |[mm] |[mm] |[mm] |[mm]

- - *20 2| 16158 001 584 55| 46 22| 65| 45| 15

h - 25 %| 16|158 001 585 60| 57| 15| 28| 75| 60| 18
32 %| 16|158 001 586 70| 67| 15| 34| 92| 70| 23

32 1| 16|158 001 587 70| 67| 15| 34| 100| 70| 25

40 1| 16|158 001 588 86| 82| 15| 43| 123| 71| 28

40| 1%| 16/158 001 589 86| 82| 15| 43| 123]| 80| 28

90° Male elbow with threaded metal offtake (bronze)

(*) without hexagon

active sealing system (with thrust ring); double lip gasket;
installation without disassembling

suitable for PE and PEX-a pipes

water PN16

material: PP

gasket: NBR quality for drinkable water

male thread: ISO 7 (cilindric); Bronze

= colour: blue-black

i (10 d |[R [PN [code L1 [d2 [L2 |d1 |z |H L

—~ - [mm] | finch] mm] | [mm] | mm] | mm] | mm] | mm] | [mm]

) n *20 V2| 16|727 126 506 55| 46 22| 65| 45| 15

N B 25 % | 16|727 126 507 60| 57| 15| 28| 75| 60| 18
32 % | 16|727 126 508 70| 67| 15| 34| 92| 70| 23

32 1| 16|727 126 509 70| 67| 15| 34| 100| 70| 25

32| 1%| 16158 001 017 68| 67| 15| 34| 90| 85| 23

40 1| 16|727 126 511 86| 82| 15| 43| 123| 71| 28
40| 1%| 16|727 126 512 86| 82| 15| 43| 123| 80| 28
40| 1%| 16|727 126 510 86| 82| 15| 43| 123| 71| 28
40 2| 16|727 126 514 86| 82| 18| 43| 123| 95| 28
50| 1%| 16727126 513 99| 93| 15| 53| 130| 82| 27
63| 1%| 16/158 001018 122 118 15| 65| 163| 97| 40

22 +5F+



POLY16 PLus KITS & ACCESSORIES

Metal tightening wrench for POLY16 Plus fittings

® (*)Polypropylene
® also sold as individual pieces

d-d Code L L1

[mm] [mm] | [mm]

*16 - 32| 799 198 097 210| 75
40-63|799 198 098 405| 100
75-110|799 198 099 550 | 150

Reducing set

® suitable for PE and PEX-a pipes

maximum operating pressure PN 16

material: PP

gasket: NBR quality for drinkable water
non-compliance with POLY16 Plus repairing coupling

d-d PN |Code

[mm]

25-20| 16727 826 430
32-20| 16|727 826 431
32-25| 16|727 826 432
*40-20| 16|727 826 433
*40-25| 16727 826 434

40-32| 16|727 826 435
*50-25| 16727 826 436
*50-32| 16727 826 437

50-40| 16727 826 438
*63-25| 16|727 826 439

*63-32| 16727 826 440
*63-40| 16727 826 441
63-50| 16|727 826 442

(G-



Poly16 Plus Reduction Kit Type 1
Assembly instructions

Hon-compliance with repairing coupling

A

&

o

,,
|l |L,I

I

Y

o

Starfung frpm @ FOL T FLsw ifusy Dl TAW pisndars’
1 Remoes ihe et | S ihs Doy
Rarmoes |he cospanants § and T leavng the gidkel G

nkar compandni & unid yees omach Tha pips sipp

ser] Civmparmnl 8

L Ligrsals cormgenenl |

i Inger] Companen] T

Irir] cirspananl

i T gt [N Baai gn e Baody, Lspae
¥ Inker] Uit [sps i e Dbl gape 3050

10 Meshanscally bgiden the nut [M|

Poly16 Plus Reduction Kit Type 2
Assembly instructions

Hon-compliance with repairing coupling

A

{

L
=¥
A

Wi

8

Sranting Ao i POLYTS PLuni By SOV atdndand
1 P Tha rat [M] drom Gk Baody

Ramove ol mipregd camponents 15, T and &)

Irikipi® esmparsnl A
Il Tl B
Lisbric ity (ovmponst B

IntE Comiporsinl C

T et pomprser ([0
Pl tha nut 1] bach om Thay bedy, loose
r. il B sl 15 i il i A8S(

10. Mechasdcally bghten B sl [N]

+GF+



Grip ring in stainless steel

~ .
for PVC-U and ABS pipes
e with PVC-U pipe: maximum operating pressure PN16
e with ABS pipe: maximum operating pressure PN10
® material: stainless steel AISI304
® non-compliance with POLY16 Plus repairing coupling
d Code
[mm]
20| 727 826 415
25| 727 826 416
32| 727 826 417
401|727 826 418
50| 727 826 419
63| 727 826 420
Poly1é Plus Grip Ring in stainless steel for PYC-U and
ABS pipes
Assembly instructions
MHen-compliamce with repairing coupling
S Tergg g o POLYTE Plask fnsy SSOCTHY srassiaed
M 1 Risveirvee B ol (]
Irarr Ba afmnlena wbiesl nng [HL bertwsran thrusl nng in
g aplk rieg 151
5 [ ? hinip Tha macel ceacs hares 18 D GipaT i
J Ll P P ol [N st o0 B Body
R C—»
i Werdy wsh 3 brger o e g in gestrel poetne
T ' Vreba ) TRl el [0 B Forial paged 00
= B Mluliirai il by Nigh Uik Prall 1M1
+GF* 25



Kit for copper pipe DIN BS EN 1057 pull out resistance

® maximum operating pressure PN 16
e Material: NBR Dichtung; Verstarkungsring aus Edelstahl (AISI304); PP

o O ° ® non-compliance with POLY16 Plus repairing coupling
d DN

PN |Code
[mm] | [mm]
20| 15| 16727 826 400
25| 22| 16727 826 401
32| 28| 16|727 826 402

Poly16 Plus Kit for Copper Pipes
Assembly instructions

Won=compliance with repairing coupling

i if
R
¢
¥

Sdgrieng frgm o POLTTE Pl us: Rt BRI stangland
I Bevnsres T ik [N]
I Aoy all Sdaiul compeninis |9, T e O]
1 st Dompanenl A
L lrnard compenend
Lubes il ¢iaivygemara 5
ingen Componeni G

braar compenent [
tiple The mesiad Seeth have 1o be Gown onented

~aar gempsrnl |

Pust bl miil | Bt o (P ooty bl
naar] the pape o e bngl pepe s2ap

1 Macdarscally bghien e ral |N]

+GF+



- Kit consisting of PVC-C Split ring and FPM (Viton)
Myt gasket
® suitable for PE and PEX-a pipes
® maximum operating pressure PN 16
® (*) with thrust ring
® non-compliance with POLY16 Plus repairing coupling

d PN |Code

[mm]

20| 16727 826 506
25| 16727 826 507
32| 16727 826 508
40| 16727 826 509
50| 16727 826 510

63| 16727 826 511
*75| 16727 826 512
*90| 16727 826 513

*110| 16727 826 514

Poly16 Plus Kit PVC-C/FPM [Viton]
Assembly instructions

MHan-compliance with repairing coupling

Srirring frgim @ POLFIS Plus Detng

. Ramirar the ft |ML th gplit fing 1S1], Ik Ml
Fifig IT] &l the gasket |G mainlaining 1he
carrect asiambly order

L Substiute the slandard whate splil ring 151 and
st mimnded black gaskel [G1] wiih b

'c:.‘ perrespanding kol componenis: FYC.C pld nng
ﬁl- Lqﬂ il ¥ ] 1531 and FPMSVRGn gaskat |00
2 ! Reassemble (he comganants o follows

1. Inseri the preen gasket G2 indo the fitteg body
53 Ehal Tha conical part i weible Rses ligune

gl gt
| & Lubncaby it corecid gart of this garikat

1
m nii— Q e 5 Re-wwier B thiusl fing [T) anguneng that 1he

wider part is uppermost, lod damaters up to 50
enson that it iis mbo place ot Iyl

& Inse tha grey splil rlllilhﬂ rlll.l.l'lm; Bk the
widlal part Ly an 188 Bhiail fing [T

T Pl whas mai [ bach o i by, Togss
B e b pipel 08 U liil prpe Slog

¥ Mwcharecaify Lighien the sl [

+(5F+



Blanking plug

® maximum operating pressure PN 16
e material: PP

d PN |Code

20| 16193 281 187
25| 16193 281 188
32| 16193 281189
40| 16(193 281 190
50| 16193 281191

Poly156 Plus Blanking Plug
Assembly instructions

Mon-compliance with repairing coupling

Sisrting from & Paly 14 Plos frtng BTN srandirg
1 Unacres the aul [N
t 2 Pemeve the companends |5 = T, levng the gavke! 01
el Bt bady [El

™

F i the Eleeiing plug ||

" —
ﬁ":‘ﬂ & Whechassrnlly tighben the not 1N

®
¥

+GF+



POLY16 Plus REPAIRING COUPLINGS
Repairing coupling (without pipe stop)

® non-compliance with kits and metal grip ring

® active sealing system (with thrust ring); d20-32 O-ring gasket; d40-63 oval gasket;
d75-110 spring gasket

® nstallation without disassembling

e suitable for PE and PEX-a pipes

o water PN16

® material: PP

® gasket: NBR quality for drinkable water

® colour: blue-black
d PN |Code dl |d2 |L L2
[mm] [mm] | [mm] | [mm] |[mm]

20| 16727 936 306 22| 46| 14| 34
25| 16727 936 307 28| 57| 126| 43
32| 16727 936 308 35| 67| 131| 39
40| 16727 936 309 44| 82| 188| 68
50| 16727936 310 53| 93| 207| 70

63| 16727 936 311 65| 117 | 248 | 86
75| 16727 936 312 78| 134| 290| 110
90| 16727936 313 93| 160 | 322 | 128
110| 16[727936314 | 113]| 181 | 362| 148

Paly1é Plus Repairing Coupling
Assembly instructions

’ —
| -l : —
- e e -
1."{:;- —a (Bl w h
. T s — T e —
4
= Ny (o =
L el iy, - — T
-t = -L;" o | i ] =
5 k
| S - 1 1
T T T o
i ¥

el 29



Universal Fittings

Coupling

® black offtake: suitable for Metric and Imperial PE, PEX, PVC, ABS, galvanized, lead,
copper pipes

® blue offtake: suitable for PE pipe
e water PN10
y L . ® material: PP
=1 = — ® gasket: EPDM quality for drinkable water
4 e ‘Jdl X ® non-compliance with POLY16 Plus kits
T e colour: blue-black
PE outlet | Universal outlet |PN |Code d1 [(d2 |d3 d4 |L L1 |L2
[mm] [mm] [mm] | [mm] | [mm] [mm] | [mm] | [mm] | [mm]
20 15-21 10158 001 713 20| 47|15-21| 55| 119| 55| 55
20 21-27| 10|158 001 714 20| 47| 21-27| 65| 127| 70| 55
20 27-35| 10(158 001 715 20| 47| 27-35| 80| 151| 88| 55
25 15-21 101|158 001 716 25| 57|15-21 55| 128 | 55| 55
25 21-27| 10|158 001 717 25| 57| 21-27| 65| 136 70| 55
25 27-35| 10(158 001 718 25| 57| 27-35| 80| 162| 88| 55
32 21-27| 10|158 001 719 32| 66|21-27| 65| 1589| 70| 75
32 27-35| 10/158 001 720 32| 66| 27-35| 80| 174| 88| 75
90° Elbow

® black offtake: suitable for Metric and Imperial PE, PEX, PVC, ABS, galvanized, lead,
copper pipes

® blue offtake: suitable for PE pipe
e water PN10
® material: PP
® gasket: EPDM quality for drinkable water
® non-compliance with POLY16 Plus kits
® colour: blue-black
PE outlet | Universal outlet |PN |Code
= i - [mm] [mm]
1 ' r—. 25 15-21 101|158 001 721
da Ll J 1 25 21-27| 10|158 001 722
S0 =q
1 b, | L PE outlet | Universal outlet |PN |(d1 [d2 |d3 d4 |L L1 |L2 |L3
. ALk Y
i |__J: {mm} (mm] [mm] | [mm] | [mm] [mm] | [mm] | [mm] | [mm] | [mm]
e 25 15-21| 10| 25| 57|15-21| 55| 69| 55| 65| 74
Bl -l 25 21-27| 10| 25| 57| 21-27| 65| 76| 70| 70| 74
PE Dubisi UNIVERSAL Deithet

r::=r/ \"“

30 +5F+



Universal Kit (in compliance with Universal fitting only)
® non-compliance with POLY16 fittings

e water PN10
® material: PP
® gasket: EPDM quality for drinkable water
® (*)Spare part
Fa e
PE outlet | Universal outlet |PN | Code
[mm] [mm]
25 15-21 101|158 001 723
32 21-27 101|158 001 724
* 27 - 35 101|158 001 725

Universal Fittings
Assembly instructions

Hon-cempliance with POLT18 Flus kits.

I Cu e pages i 6 Bl -degges ongls ligues cul] Wies paabss £ @ reaTeteedsd o Bl T adges ol e oo @ orded i
=g g Ve, B o e

B g s P wp) ol il Bl ey Jrirm. Pl sy iy o e Mo s bus gl | prnpmerensd g gen Brgisers L] e o pogia
ds Bu PL U abigeld 1] pledad bllid T bkl @l e i b He  STipdssis el b 68 5 fasmd & il P suwerdld,
welrey T

by I jugm vl sl | nfbraas) e gl |oask P iRas) wod Pl poger 10 g Bary [Rar Giep

4 bl Reglttnn Theom pall ] Msy Maghidors RarThmi millh g Jooje bissl D pal i po e Usie sl il sl o g

b il Do e s i Thor | ey sl pad, ollora Mor B aunersdidy e s Fesen. s beei oo viddes, Bergersy s e Dot L
Livesna gl i v reain rEpae s a mrral opwere @l B sl b ol B desl e hem e pps

S

|

Universal Kit
Assembly instructions

L]
Pl SR Gy ol T R RO e 1 TS W TS P PO P e TP e S O [0
ety of e compoeenty e

il il P covperesin ol Pop P swiee ok 1 Femibers pul dgi +veg. Bl g wnd (1 e Praparn Pai nosperer i
ol b Limwsssmrnynn] s 18, 0, . DN

mpgrr e Lol wraleg reeg [0 21 oo b UL 0w P eoiond pooare, il e o e leerran Al apaed e e
sejr o Y bty Do b Pap po oyl o buoe Batwmne Tha Buinly grel] P cjadiend Swnl e a7 & M Buipin jaiei e plos) r o) sepe Leps
rraq v e addeeed wfier

1 Py fw Urvverisl rti 121 wn S ol npoanered oy B sl reg d wel B Fan sarley cpsers Lae wrciced ool

i P fe Ueeerisl amst g, D sbeve the ema 1L e e eewl rppe Bae o the Pl sariscn of He el hale srcoasd
[

Fob i Pk Pl Bl L] ] Lttt (i bl By il el 0 T e O T R el Pkl [l Pl P 10
Freayrya =ud aribodd ppr

e e B st e Uerom s mud llowr ™2 B maemiry ralne S o rererr orde | kispeng = e T e
Lovesierial apla rorsg roary rigaats @ sl sgreng ol e sradp 15 <Iwid Tl die grippETs rodT Ui g

+GF+ 31



Plastic Stop Cock Valves
Plastic Stop Cock Valve

e suitable for PE

e water PN16

® non-compliance with kits

® material: PP

® gasket: O-ring (EPDM)

d PN |Code d L L1 |L2 |L3 |d1 |d2
[mm] fmm] | mm] | [mm] | [mm] | [mm] | [mm] | [mm]

20| 16158 001 872 20| 128| 64| 93| 50| 20| 47
25| 16158 001 874 25| 138 65| 93| 53| 25| 54
32| 16158 001 876 32| 158| 71| 98| 60| 32| 65

Plastic Stop Cock Valve
Assembly instructions

Hon-compliance with kits

1 Chamies (e papd e @ birerlir el

1 Heler (D the 5rTow maried o The body ler e Mo descnan. Ureomesy T AUl wiThol Iemsavwng @ from e body.
Efauie B O fuig and tha gl foreg aim o8 Lhi proped poiilon

1 Eaadt (i Popek il Thigagh (o el Pir® T pepe usd il JF oo, e agh The 0 Drony et FrieDbeiy Dl ppi il 090
& Tighien thee mad mareslly, thae lriher saphles wih wren

1z izck the Sizp Coch, Tty 1N B spancle closiwe e To uslocl the Sing Cork, ium The npindi arhcicciramgs

E +GF+



POLY16 Plus Clamp Saddles
Technical information

Materials

Body:

polypropylene copolymer stabilized (PP-B) with Master
Batches UV stabilized (Grade 8, ASTM D2565, 1-8)
Gasket:

Food safe rubber (NBRJ; 70 sh

Reinforcement ring:

Stainless Steel AISI 430

Bolts and nuts:

galvanized or stainless steel

Standards

For PE pipe:

SO 11922-1; ISO 4427; DIN 8074; AS/NZS 4130;
EN 12201-1/2; BS 6572; BS 6730; UNI 7990
For PVC pipe:

UNI EN 1452-1/2

Threads:

ISO 7-1; DIN EN 10226-1; BS 21; AS 1722.1
Test Standards:

AS/NZS 4129; 1S0 13460

Nominal Pressure PFA (PN):

See single article tables

Working temperature range (C°): -10° +45°

Relation between working pressure and temperature

TEMPERATURE (C°) -10°/ + 25° +26° [ +35° +36° [ + 45°
PFA* (PN) 16 12,5 10
PFA* (PN) 12,5 10 8
PFA* (PN) 10 8 6
PFA* (PN) 6 4,5 N.A.

* In accordance with EN805

Sanitary

Clamp saddles suitable for drinking water. The materials comply with all major legislations and recommenda-

tions for food and potable water contact.

List of abbreviations

BS British Standard

DIN Deutsche Industrie-Norm

ISO International Standardization Organisation
PP Polypropylene

PE Polyethylene

NBR Nitrile butadiene rubber

d Pipe outside diameter

DN Nominal diameter

PFA (PN)  Working pressure allowable
kg weight in kilogramm

SP standard package (bag)

GP Gross Pack (cm. 59x25x41)
R Conical Male thread

Rp Parallel female thread

+GF+




Clamp Saddles
Assembly instructions

1 check that all components are present

- verify that on the surface of the pipe are not present impurities (dirt, sand, and so on) or tracks of lubricating oils which
could cause sliding while assembling the saddle.

2 place the lower part of the saddle on the pipe in correspondence of the chosen area for the derivation.
3 position properly the gasket into its seat in the threaded part of the saddle.

4 line up the threaded part with the lower part (already in position) and insert the screws from below, preferably in diagonal
sequence so that one can simplify the lining up of the two parts.

5 insert the possible existing washers and screw the nuts without tightening in depth, until a first blocking of the saddle, so
that the rotation on the pipe will be avoided (*).

6 punch the pipe in correspondence of the derivation area (**).

7 screw the threaded male of the fitting on the threaded female offtake of the saddle using a suitable quantity of teflon in
order to fill the gap between the two threads.

8 complete the screwing of the bolts until the two parts of the saddle touch each other (until size 250 mm [8"]; for bigger
diameters, until a suitable draught of the bolt).

Please, note:
(*): avoid to screw too much the bolts in course of this phase in order not to cause even if slight ovalizations of the threa-

ded female offtake not assembled, yet that could cause subsequent difficulties in screwing the threaded male offtake.
(**): The punching of the pipe can be advanced depending on the installer’s experience.

il

1 2 3

= =

4 5 6

E +GF+



POLY16 Plus CLAMP SADDLES

654X - Blue clamp saddles with stainless steel
reinforcement ring, flat gasket and stainless steel bolts
and nuts (PN16-PN10)

e water PN16-10
® suitable for PE and PVC pipes
® material: PP
e female thread: ISO 7 (parallel)
® gasket: O-ring with flat lip (NBR)
® reinforcement ring: stainless steel AlS1430
o ® bolts and nuts : stainless steel (bolts:AlSI1304-A2; nuts:AlSI316-A4)
j 3 e colour: blue
& 2 lal e o B= N° of bolts
= e ® M= bolt type
I ® (*) with O-ring gasket
* - - - d Rp PN (B |M Code dl L L1 |H H1
[mm] | [inch] [mm] | [mm] |[mm] |[mm] |[mm]
*20 %| 16 M8X40 | 727 627 001 12| 46| 77| 59| 26
*25 %| 16 M8X30 | 727 627 011 13| 49| 79| 58| 15
*25 %| 16 M8X30 | 727 627 012 13| 49 79| 58| 15
*32 %| 16 M8X30 | 727 627 021 14| 49| 79| 62| 20
*32 Y| 16 M8X30 | 727 627 022 14| 49 79| 62| 20
*32 11 16 M8X40 | 727 627 023 14| 62| 87| 70| 20
40 %| 16 M8X40 | 727 627 031 21| 62| 86| 71| 20
40 %| 16 M8X40 | 727 627 032 21 62| 86| 71| 20
40 1| 16 M8X40 | 727 627 033 21| 62| 86| 70| 19
50 | 16 M8X40 | 727 627 041 21 62| 86| 82| 20
50 %| 16 M8X40 | 727 627 042 21| 62| 86| 82| 20
50 1| 16 M8X40 | 727 627 043 21| 62| 86| 82| 20
50 1% 16 M8X40 | 727 627 044 21 62| 86| 82| 20
63 %| 16 M8X40 | 727 627 051 18| 62| 101| 96| 21
63 Y| 16 M8X40 | 727 627 052 24 62| 101 96| 21
63 11 16 M8X40 | 727 627 053 31| 62| 101| 96| 21
63 1%| 16 M8X40 | 727 627 054 31 62| 101 96| 21
63 1% 16 M8X40 | 727 627 055 31 62| 101 96| 21
75 %| 16 M8X60 | 727 627 061 16| 79| 123| 102| 14
75 %| 16 M8X60 | 727 627 062 21 79| 123| 104| 16
75 1| 16 M8X60 | 727 627 063 27| 79| 123| 107| 19

75 1%| 16
75 1%| 16

M8X60 | 727 627 064 35| 79| 123| 109| 21
M8X60 | 727 627 065 42| 79| 123| 109| 21

75 2| 16 M8X60 | 727 627 066 53| 79| 123| 112| 24
90 2| 16 M8X60 | 727 627 071 16| 87| 138| 116| 14
90 %| 16 M8X60 | 727 627 072 21 87| 138| 118| 16
90 11 16 M8X60 | 727 627 073 27| 87| 138] 121| 19

90 1%| 16
90 1%| 16

M8X60 | 727 627 074 35| 87| 138] 123| 21
M8X60 | 727 627 075 42| 87| 138| 123| 21

D OO OO OO AR ARARADMDN BMBRADMDIMDE BRI DE BPONNN NDNDNNN

90 2| 16 M8X60 | 727 627 076 53| 87| 138| 126| 24
110 2| 16 M8X60 | 727 627 081 15] 99| 1562| 150| 23
110 Y| 16 M8X50 | 727 627 082 20| 99| 152| 150| 23
110 11 16 M8X50 | 727 627 083 26| 99| 152| 150| 23
110 1%| 16 M8X50 | 727 627 084 35| 99| 1562| 150| 23
110 1%| 16 M8X50 | 727 627 085 41 99| 152| 150| 23
110 2| 16 M8X50 | 727 627 086 51 99| 1562| 150| 23

*110 3 6 M8X50 | 727 627 087 85| 99| 152| 150| 23
125 2| 16 M8X70 | 727 627 091 15| 101| 166| 169| 24
125 Y| 16 M8X50 | 727 627 092 20| 101| 166| 169| 24
125 11 16 M8X50 | 727 627 093 26| 101| 166| 169| 24
125 1%| 16 M8X50 | 727 627 094 35| 101| 166| 168| 23
125 1%| 16 M8X50 | 727 627 095 41] 101| 166| 168 | 23
125 2| 16 M8X50 | 727 627 096 50| 101| 166| 168| 23

*125 3 6 M8X50 | 727 627 097 85| 139| 178| 180| 37

*125 4 6 M10X70 | 727 627 098 90| 139| 178| 181| 38
140 2| 16 M10X70 | 727 627 101 18| 114| 207 | 191| 25

+GF+ 35



d Rp PN M Code d1 L L1 H H1
[mm] | [inch] [mm] | [mm] |[mm] |[mm] |[mm]
140 %| 16 6 M10X70 | 727 627 102 24| 114| 207 | 191 25
140 1 16 6 M10X70 | 727 627 103 30| 114| 207 | 191| 25
140 1%| 16 6 M10X70 | 727 627 104 38| 114 207 | 191 25
140 1%| 16 6 M10X70 | 727 627 105 45| 114| 207 | 191 24
140 2| 16 6 M10X70 | 727 627 106 50| 114| 207 | 191| 24
*140 3| 10 6 M10X70 | 727 627 107 85| 142| 208 | 201 38
*140 41 10 6 M10X70 | 727 627 108 90| 142| 208 | 201| 38
160 | 16 6 M10X70 | 727 627 111 18| 114| 226 | 215| 24
160 ¥%| 16 6 M10X70 | 727 627 112 24| 114| 226| 215| 24
160 1 16 6 M10X70 | 727 627 113 30| 114| 226 | 215| 24
160 1%| 16 6 M10X70 | 727 627 114 37| 114| 226| 215| 24
160 1%| 16 6 M10X70 | 727 627 115 45| 114| 226| 215| 24
160 2| 16 6 M10X70 | 727 627 116 51| 114| 226| 215| 24
*160 3| 10 6 M10X70 | 727 627 117 84| 142| 228 | 222| 24
*160 41 10 6 M10X70 | 727 627 118 90| 142| 228 | 222| 24
*180 1 10 6 M10x80 | 727 627 123 30| 169| 262| 265| 38
*180 1% 10 6 M10x80 | 727 627 124 36| 169| 262| 265| 38
*180 1% 10 6 M10x80 | 727 627 125 42| 169 | 262 | 265| 38
*180 2| 10 6 M10x80 | 727 627 126 54| 169| 262 | 265| 38
*180 3| 10 6 M10x80 | 727 627 127 84| 169| 262| 265| 38
*180 4| 10 6 M10x80 | 727 627 128 108| 169 | 262 | 265| 38
*200 1% 10 6 M10x80 | 727 627 135 45| 169 | 262| 265| 38
*200 21 10 6 M10x80 | 727 627 136 54| 169| 262| 265| 38
*200 3| 10 6 M10x80 | 727 627 137 85| 169| 262 | 265| 38
*200 41 10 6 M10x80 | 727 627 138 103| 169 | 262 | 267| 40
*225 1%| 10 6 M10x80 | 727 627 145 45| 145| 287 | 287| 26
*225 2| 10 6 M10x80 | 727 627 146 51| 145| 287 | 287 | 26
*225 3| 10 6 M10x80 | 727 627 147 85| 174| 287| 295| 37
*225 41 10 6 M10x80 | 727 627 148 103 | 174| 287 | 295| 38
*250 2| 10 6 M10x80 | 727 627 156 55| 178| 310| 314| 38
*250 3| 10 6 M10x80 | 727 627 157 85| 178| 310| 314| 38
*250 41 10 6 M10x80 | 727 627 158 103| 178| 310| 314| 38
*280 21 10 6 M10x80 | 727 627 166 51| 179| 335| 326| 31
*280 3| 10 6 M10x80 | 727 627 167 78| 179| 335| 338| 41
*280 4|1 10 6 M10x80 | 727 627 168 98| 179| 335| 338| 46
*315 2| 10 6| M10x120|727 627 176 51| 246| 390| 350| 31
*315 3| 10 6| M10x120|727 627 177 78| 246| 390| 363| 41
*315 4| 10 6| M10x120|727 627 178 98| 246| 390| 363| 46

wGE



654 - Blue clamp saddles with stainless steel reinforcing
ring, flat gasket and galvanized bolts and nuts
(PN16-PN10)

e water PN16-10

e suitable for PE and PVC pipes
e female thread: ISO 7 (parallel)
® material: PP
® gasket: O-ring with flat lip (NBR)
e reinforcement ring: stainless steel AlS1430
B ® bolts and nuts : galvanized
j ¥ ® colour: blue
& P o S ® B= N° of bolts
& “ e M= bolt type
| ® (*) with O-ring gasket
- - d |Rp |PN |[B |M Code dl [L L1 |H |H
[mm] | [inch] [mm] |[mm] |[mm] |[mm] |[mm]
*20 | 16 M8X40 | 158 001 041 12 46 77 59| 26
*25 | 16 M8X30 | 158 001 042 13| 49 79| 58| 15
*25 %| 16 M8X30 | 158 001 043 13 49 79 58| 15
*32 | 16 M8X30 | 158 001 044 14| 49 79| 62| 20
*32 %| 16 M8X30 | 158 001 045 14| 49 79| 62| 20
*32 1 16 M8X40 | 158 001 046 14 62 87 70| 20
40 | 16 M8X40 | 158 001 047 21 62| 86| 71| 20
40 %| 16 M8X40 | 158 001 048 21 62 86 71| 20
40 1 16 M8X40 | 158 001 049 21 62 86| 70| 19
50 | 16 M8X40 | 158 001 050 21 62| 86| 82| 20
50 Y| 16 M8X40 | 158 001 051 21 62 86| 82| 20
50 1 16 M8X40 | 158 001 052 21 62| 86| 82| 20
50 1%| 16 M8X40 | 158 001 053 21 62| 86| 82| 20
63 | 16 M8X40 | 158 001 054 18| 62| 101 9| 21
63 Y| 16 M8X40 | 158 001 055 24| 62| 101 96| 21
63 1 16 M8X40 | 158 001 056 31 62| 101 96| 21

M8X40 | 158 001 058 31 62| 101 96| 21
M8X40 | 158 001 057 31 62| 101 96| 21

75 2| 16 M8X60 | 158 001 059 16| 79| 123| 102| 14
75 Y| 16 M8X60 | 158 001 060 21 79| 123| 104| 16
75 11 16 M8X60 | 158 001 061 27 79| 123| 107| 19
75 1%| 16 M8X60 | 158 001 062 35| 79| 123] 109| 21
75 1%| 16 M8X60 | 158 001 063 42| 79| 123| 109| 21
75 2| 16 M8X60 | 158 001 064 53| 79| 123| 112| 24
90 | 16 M8X60 | 158 001 065 16| 87| 138| 116| 14
90 Y| 16 M8X60 | 158 001 066 21 87| 138| 118| 16
90 11 16 M8X60 | 158 001 067 27| 87| 138] 121| 19

M8X60 | 158 001 069 35| 87| 138| 123| 21
M8X60 | 158 001 068 42| 87| 138| 123| 21

90 2| 16 M8X60 | 158 001 070 53| 87| 138| 126| 24
110 2| 16 M8X50 | 158 001 071 15| 99| 152| 150| 23
110 %| 16 M8X50 | 158 001 072 20| 99| 152| 150| 23
110 11 16 M8X50 | 158 001 073 26| 99| 152| 150| 23
110 1%| 16 M8X50 | 158 001 075 35| 99| 152| 150| 23
110 1%| 16 M8X50 | 158 001 074 Y| 99| 152| 150| 23
110 2| 16 M8X50 | 158 001 076 51 99| 152| 150| 23

*110 3 6 M8x70 | 158 001 077 85| 99| 152| 150| 23
125 2| 16 M8X50 | 158 001 078 15| 101 | 166| 169| 24
125 %| 16 M8X50 | 158 001 079 20| 101| 166| 169| 24
125 11 16 M8X50 | 158 001 080 26| 101| 166| 169| 24

M8X50 | 158 001 081 35| 101| 166| 168| 23
M8X50 | 158 001 082 41] 101| 166| 168 | 23

D OO OV OO0 AR AR DE MDA BMDMDMDEDE BNONNMNNN NDNNNN

125 2| 16 M8X50 | 158 001 083 50| 101| 166| 168| 23
*125 3 6 M8X70 | 158 001 084 85| 139| 178| 180| 37
*125 4 6 M8X70 | 158 001 085 90| 139| 178| 181| 38

140 2| 16 M8X70 | 158 001 086 18| 114| 207 | 191| 25

+GF+ 37



d Rp PN M Code d1 L L1 H H1
[mm] | [inch] [mm] | [mm] | [mm] |[mm] |[mm]
140 %| 16 6 M8X70 | 158 001 087 24| 114| 207 | 191 25
140 1 16 6 M8X70| 158 001 088 30| 114| 207 | 191| 25
140 1%| 16 6 M8X70 | 158 001 090 38| 114| 207 | 191 25
140 1%| 16 6 M8X70 | 158 001 089 45| 114| 207 | 191 24
140 2| 16 6 M8X70 | 158 001 091 50| 114| 207 | 191| 24
*140 3| 10 6 M8X70 | 158 001 092 85| 142| 208| 201| 38
*140 41 10 6 M8X70| 158 001 093 90| 142| 208 | 201| 38
160 | 16 6 M8X70 | 158 001 094 18| 114| 226 | 215| 24
160 ¥%| 16 6 M8X70| 158 001 095 24| 114| 226| 215| 24
160 1 16 6 M8X70| 158 001 096 30| 114| 226 | 215| 24
160 1%| 16 6 M8X70 | 158 001 098 37| 114| 226| 215| 24
160 1%| 16 6 M8X70| 158 001 097 45| 114| 226| 215| 24
160 2| 16 6 M8X70 | 158 001 099 51| 114| 226| 215| 24
*160 3| 10 6 M8X70|158 001 100 84| 142| 228 | 222| 38
*160 41 10 6 M8X70| 158 001 101 90| 142| 228 | 222| 38
*180 1 10 6 M10X80 | 158 001 102 30| 169| 262| 265| 38
*180 1% 10 6 M10X80 | 158 001 104 36| 169| 262| 265| 38
*180 1% 10 6 M10X80 | 158 001 103 54| 169| 262| 265| 38
*180 2| 10 6 M10X80 | 158 001 105 54| 169| 262| 265| 38
*180 3| 10 6 M10X80 | 158 001 106 85| 169| 262| 265| 38
*180 4| 10 6 M10X80 | 158 001 107 103 | 169 | 262 | 267 | 40
*200 1% 10 6 M10X80 | 158 001 108 45| 169| 262| 265| 38
*200 21 10 6 M10X80 | 158 001 109 54| 169| 262| 265| 38
*200 3| 10 6 M10X80 | 158 001 110 85| 169| 262| 265| 38
*200 41 10 6 M10X80 | 158 001 111 103| 169 | 262 | 267| 40
*225 1%| 10 6 M10X80 | 158 001 112 45| 145| 287 | 287| 26
*225 2| 10 6 M10X80 | 158 001 113 51| 145| 287 | 287 | 26
*225 3| 10 6 M10X80 | 158 001 114 85| 174| 287| 295| 37
*225 41 10 6 M10X80 | 158 001 115 103 | 174| 287 | 295| 38
*250 2| 10 6 M10X80 | 158 001 116 55| 178| 310| 314| 38
*250 3| 10 6 M10X80 | 158 001 117 85| 178| 310| 314| 38
*250 41 10 6 M10X80 | 158 001 118 103| 178| 310| 314| 38
*280 21 10 6 M10X80 | 158 001 119 51| 179| 335| 326| 31
*280 3| 10 6 M10X80 | 158 001 120 78| 179| 335| 338| 41
*280 4|1 10 6 M10X80 | 158 001 121 98| 179| 335| 338| 46
*315 2| 10 6| M10X120|158 001 122 51| 246| 390| 350| 31
*315 3| 10 6| M10X120|158 001 123 78| 246| 390| 363| 41
*315 4| 10 6| M10X120|158 001 124 98| 246| 390| 363| 46

wGE



664 - Double blue clamp saddles with stainless steel
reinforcing ring, flat gasket and galvanized bolts and
nuts (PN16-PN10)

e water PN16-10

e suitable for PE and PVC pipes
e female thread: ISO 7 (parallel)
® material: PP
® gasket: O-ring with flat lip (NBR)
® reinforcement ring: stainless steel AlS1430
o ® bolts and nuts : stainless steel (bolts:AlSI304-A2; nuts:AlSI316-A4)
bt g ® colour: blue
L] i ® B= N° of bolts
i i - ® M= bolt type
i ® (*) with O-ring gasket
o
WLy d Rp PN |B M Code dl |L L1 H H1
1 i j [mm] | [inch] [mm] | [mm] | [mm] |[mm] |[mm]
i ’ *20 %| 16 M8X40 | 158 001 125 12| 46| 77| 84| 26
*25 | 16 M8X30 | 158 001 126 13| 49 79 80| 15
*25 %| 16 M8X30 | 158 001 127 13 49 79 80| 15
*32 | 16 M8X30 | 158 001 128 14| 49 79 80| 20
*32 %| 16 M8X30 | 158 001 129 14 62 87 87| 20
*32 1 16 M8X50 | 158 001 130 14 62 87 91| 20
40 | 16 M8X50 | 158 001 131 21 62 86 91| 20
40 %| 16 M8X50 | 158 001 132 21 62 86 91 20
40 1 16 M8X50 | 158 001 133 21 62 86 89| 19
50 | 16 M8X50 | 158 001 134 21 62 86| 101| 20
50 %| 16 M8X50 | 158 001 135 21 62 86| 101| 20
50 1 16 M8X50 | 158 001 136 21 62 86| 101| 20
50 1% 16 M8X50 | 158 001 137 21 62 86| 101| 20
63 | 16 M8X50 | 158 001 138 18 62| 101| 115| 21
63 %| 16 M8X50 | 158 001 139 24 62| 101| 115| 21
63 1 16 M8X50 | 158 001 140 31 62| 101 115 21
63 1%| 16 M8X50 | 158 001 142 31 62| 101| 115| 21
63 1%| 16 M8X50 | 158 001 141 31 62| 101 115 21
75 | 16 M8X70 | 158 001 143 16 79| 123| 115| 14
75 %u| 16 M8X70 | 158 001 144 21 79| 123| 119| 16
75 1 16 M8X70 | 158 001 145 27 79| 123 | 125| 19
75 1%| 16 M8X70 | 158 001 147 35 79| 123| 129| 21
75 1%| 16 M8X70 | 158 001 146 42 791 123 129| 21
75 2| 16 M8X70 | 158 001 148 53 79| 123| 135| 24
90 | 16 M8X70 | 158 001 149 16 87| 138| 129| 14
90 %| 16 M8X70 | 158 001 150 21 87| 138| 133| 16
90 1 16 M8X70 | 158 001 151 27 87| 138| 139| 19

M8X70 (158 001 153 35| 87| 138| 145| 21
M8X70 [ 158 001 152 42| 87| 138| 145| 21

90 2| 16 M8X70 (158 001 154 53| 87| 138| 151| 24
110 2| 16 M8X70 [ 158 001 155 15| 99| 152| 169| 23
110 %| 16 M8X70 [ 158 001 156 20| 99| 152| 169| 23
110 11 16 M8X70 [ 158 001 157 26| 99| 1562| 169| 23
110 1%| 16 M8X70 [ 158 001 159 35| 99| 152| 169| 23
110 1%| 16 M8X70 [ 158 001 158 41 99| 152| 169| 23
110 2| 16 M8X70 (158 001 160 51 99| 152| 169| 23

*110 3 6 M8X70 [ 158 001 161 85| 99| 152| 169| 23
125 2| 16 M8X70 [ 158 001 162 15| 101| 166| 189| 24
125 %| 16 M8X70 [ 158 001 163 20| 101| 166| 189| 24
125 11 16 M8X70 | 158 001 164 26| 101| 166| 189 | 24

M8X70 (158 001 166 35| 101| 166| 188| 23
M8X70 [ 158 001 165 41| 101| 166| 188| 23

D OO OV OO0 AR AR DE MDA BMDMDMDEDE BNONNMNNN NDNNNN

125 2| 16 M8X70 [ 158 001 167 50| 101| 166| 188| 23
*125 3 6 M8X70 | 158 001 168 85| 139| 178| 188| 37
*125 4 6 M8X70 (158 001 169 90| 139| 178| 188| 38

140 2| 16 M8X70 [ 158 001 170 18| 114| 207 | 209| 25

(G-



d Rp PN M Code d1 |L L1 H H1
[mm] | [inch] [mMm] | [mm] | [mm] |[mm] | [mm]
140 %| 16 6 M8X70 | 158 001 171 24| 114| 207| 208 | 25
140 1 16 6 M8X70| 158 001 172 30| 114| 207 | 208| 25
140 1%| 16 6 M8X70 | 158 001 174 38| 114| 207| 208| 25
140 1%| 16 6 M8X70 | 158 001 173 45| 114| 207 | 206 | 24
140 2| 16 6 M8X70| 158 001 175 50| 114| 207 | 207 | 24
*140 3| 10 6 M8X70 | 158 001 176 85| 142| 208| 207 | 38
*140 41 10 6 M8X70| 158 001 177 90| 142| 208 | 207 | 38
160 | 16 6 M8X70 | 158 001 178 18| 14| 226| 225| 24
160 ¥%| 16 6 M8X70| 158 001 179 24| 114| 226 | 225| 24
160 1 16 6 M8X70| 158 001 180 30| 114| 226| 225| 24
160 1%| 16 6 M8X70 | 158 001 182 37| 114| 226| 225| 24
160 1%| 16 6 M8X70| 158 001 181 45| 114| 226 | 225| 24
160 2| 16 6 M8X70 | 158 001 183 51| 114| 226| 225| 24
*160 3| 10 6 M8X70| 158 001 184 85| 142| 228 | 225| 38
*160 41 10 6 M8X70| 158 001 185 90| 142| 228 | 225| 38
*180 1 10 6 M8X70 | 158 001 186 30| 169| 262| 303| 38
*180 1% 10 6 M8X70| 158 001 188 37| 169| 262| 303| 38
*180 1% 10 6 M8X70 | 158 001 187 45| 169| 262 | 303 | 38
*180 2| 10 6 M8X70| 158 001 189 51| 169| 262| 303| 38
*180 3| 10 6| M10X80|158 001 190 85| 169| 262| 303| 38
*180 4| 10 6| M10X80|158 001 191 90| 169| 262| 303| 40
*200 1% 10 6| M10X80 158 001 192 45| 169 | 262| 323| 38
*200 21 10 6| M10X80|158 001 193 51| 169| 262| 323| 38
*200 3| 10 6| M10X80 |158 001 194 85| 169| 262| 323| 38
*200 41 10 6| M10X80|158 001 195 90| 169| 262| 323| 40
*225 1%| 10 6| M10X80|158 001 196 45| 145| 287 | 351 | 26
*225 2| 10 6| M10X80 |158 001 197 51| 145| 287 | 351| 26
*225 3| 10 6| M10X80|158 001 198 85| 174| 287| 351 | 37
*225 41 10 6| M10X80|158 001 199 90| 174| 287 | 351| 38
*250 2| 10 6| M10X80 | 158 001 200 51| 178| 310| 375| 38
*250 3| 10 6| M10X80 158 001 201 85| 178| 310| 375| 38
*250 4| 10 6| M10X80 |158 001 202 90| 178| 310| 375| 38

wGE



154 (for metal pipes) -Black clamp saddles with
reinforcing ring and flat gasket , galvanized bolts and
nuts

water PN12,5

® suitable for metal pipe (see “ d “ in the table)
e female thread: ISO 7 (parallel)
® material: PP
® gasket: O-ring with flat lip (NBR)
e e reinforcement ring: stainless steel AlS1430
<1 ® bolts and nuts : galvanized
i # & & e colour: black
i = ® B= N° of bolts
i e M= bolt type
h o ) d Rp PN |B M Code d1 L L1 |H H1
[mm] | [inch] | [bar] [mm] | [mm] | [mm] | [mm] | [mm]
60 %|12.5 M8X40 | 158 001 203 18| 62| 101| 96| 21
60 Y% |12.5 M8X40 | 158 001 706 24| 62| 101 96| 21
60 1112.5 M8X40 | 158 001 707 31| 62| 101 96| 21
60| 1%|12.5 M8X40 | 158 001 709 31 62| 101 96| 21
60| 1%|125 M8X40 | 158 001 708 31| 62| 101 96| 21
80 % |12.5 M8X40 | 158 001 204 18| 77| 116| 113| 20
80 Y% |12.5 M8X50 | 158 001 205 20| 77| 116| 113| 20
80 1112.5 M8X50 | 158 001 206 27| 77| 116] 113| 20
80| 1%|12.5 M8X50 | 158 001 208 35| 77| 116| 113| 20
80| 1%|12.5 M8X50 | 158 001 207 45| 77| 16| 113| 20

100 %|12.5
100 %] 12.5
100 11125
100 1%]|125
100| 1%|125

120 %|12.5
120 1112.5
120 1%| 125
120 1%| 125

M8X50 | 158 001 209 15| 99| 155| 147| 22
M8X50 [ 158 001 210 20| 99| 155| 147| 22
M8X50 | 158 001 211 26| 99| 155| 147| 22
M8X50 [ 158 001 213 35| 99| 155| 147| 22
M8X50 | 158 001 212 41 99| 155| 147| 22

M8X50 | 158 001 214 20| 101| 166 | 167 | 24
M8X50 (158 001 215 26| 101| 166| 167 | 24
M8X50 | 158 001 217 35| 101| 166| 167 | 24
M8X50 [ 158 001 216 41] 101| 166| 167 | 24

B s s T S S S N S S S S

(G-



POLY16 rius

Mechanical

Tapping
Saddle

42 +GF+



POLY16 Plus Tapping Saddle
Technical information

Materials

Body (upper and lower section):

Virgin polypropilene copolimer (PP-B), highly UV
stabilized, black coloured

Sealing cup:

Virgin polypropilene copolimer (virgin PP-B], highly
UV stabilized

Universal Line - blue coloured with master batches
highly UV stabilized (grade 8)

PE Line - black coloured

Compression offtake:

See POLY16Plus compression fittings technical
information

Gaskets [sealing cap and saddle body):

Food safe rubber (NBR and special NBR KTW appro-
ved);

sh 70, black coloured

Sealing cup: O-ring

Universal Line - Saddle body: flat

PE Line - Saddle Body: maximize O-ring

Cutter:

Universal Line - brass

PE Line - polyacetalic resin ([POM) and stainless steel
AISI 304

Cutter extension (only PE Line):

polyacetalic resin (POM)

blue coloured

Bolts and Nuts:

galvanized

or stainless steel (bolts: AISI 304-A2; nuts: AISI 316-
A4)

Sanitary

Standard

For PE pipes:

ISO 11922-1; DIN 8074; EN 12201-1/2; AS/NZS 4130;
BS 6572; IS0 4427; UNI 7990

For PVC pipes:

ISO 4422-1/2 ; DIN 8062; UNI EN 1452-1/2
Threads :

UNI EN ISO 7-1; DIN EN 10226-1; BS 21
Test Standards:

AS/NZS/4129 - 1S0 14236 - 1S0 13460
Nominal pressure : PFA (PN)

16 bar

Tapping saddles suitable for drinking water. The materials comply with all major legislations and recommenda-

tions for food and potable water contact.

(G-



POLY16 Plus Tapping Saddle Universal Line

Assembly Instructions
e 8
| £
2
3

Diagram

1 Place the bolts in the lower section of the saddle and Tab.1: Special +GF+ key

place underneath the pipe. Assembly the gasket in the
upper section site.

Attach the upper section and tighten diagonally (/f SS '“H DN Main (mm) Offtake H (mm)
bolts are used, lubrication of the bolts is recommended). —Ht g 50-63 80
| |
1
2 Insert the outlet pipe (or connect the female thread) and \‘i 75-90 90
assemble in accordance with the compression fittings 1 110-125-140-160 | 25-32-40-1" 110
Instructions. M- Driling depth  _110-125-140-160 | 50-63-75-2" | 130

3 Unscrew the sealing cap and insert the special +GF+ key
(Tab. 1) into the hexagonal recess of the cutter (caution:
take care to align the saddle and key threads]

4 Screw the cutter into the pipe until a small amount Max. wall thickness cut (e)
of water will escape past the threads, and/or until the
screwing strenght decreases, showing the main has been DN Main (mm) e (mm)
tapped. When the screwing strenght increases again, you 50 10
have reached the final stop of the cutter inside the sadd- 63 10
le. We recommend to mark the key with the correct 75 14
drilling depht (H) (Tab.1). Screw the cutter until the mark 90 14
aligns with the top of the tapping saddle thread. 110 16
125 20
5 Unscrew the cutter to the top of the tapping saddle thread: 140 20
do not go beyond this point (see diagram in picture 5). 160 20

6 To complete the assembly, refit the sealing cap using the
+GF+ spanner for compression fittings.

E +GF+



POLY16 Plus Tapping Saddle PE Line
Assembly Instructions

Cutter extension

/
(-

1 /ﬂ\
¥ -
# " 3
L7
i 3.(
o
6
5
1 Place the bolts in the lower section of the saddle and place
underneath the pipe. Assembly the gasket in the upper
section site. Attach the upper section and tighten
diagonally. (If SS bolts are used, lubrication of the bolts
is recommended). Tab.1: 17 mm standard hexagonal key
2 Insert the outlet pipe (or connect the female thread) and o s .
assemble in accordance with the compression fittings | ikt DN Main (mm] Offtake | H (mm]
instructions. 'I; =1 & 50-63 55
| ' 75-90 65
3 Unscrew the sealing cap and insert the relevant threaded ! , ;
extension into the hexagonal recess of the cutter. Screw 110-125-140-160 | 25-32-40-1 85
using an hexagonal standard key (Tab.1). Caution: take H = Drilling depth 110-125-140-160 | 50-63-75-2" 95
care to allign hexagons threaded extension-cutter, and
saddle-extension threads.
4 Screw the threaded extension/cutter system until a small
amount of water will escape through the threads, and/or .
until the screwing strenght decreases, showing the main ~ Max. wall thickness cut (e)
has been tapped. When the screwing strenght increases
again, you have reached the final stop of the cutter inside DN Main (mm) e (mm)
the saddle. We recommend to mark the key with the 50 10
correct drilling depth (H), (Tab. 1). Screw the cutter until 63 10
the mark aligns with the top of the saddle. 75 14
90 14
5 Unscrew the extension/cutter system to the top of the 110 16
saddle: the cutter doesn’t have to go beyond this point 125 20
(see diagram in picture 5). Remove the threaded cutter 140 20
extension. 160 20

6 To complete the assembly, refit the sealing cap using a
tightening wrench for compression fittings.

+GF+ 45



POLY16 Plus Tapping Saddle
UNIVERSAL LINE

684C - Tapping Saddle for PE and PVC pipes with
compression fitting offtake, flat gasket and stainless

steel bolts and nuts

e water PN16

e suitable for PE, PEX-a and PVC pipes
® material: PP
e cutter: brass
e gasket: NBR (saddle: O-ring with flat lip; offtake: double lip; sealing cup: O-ring)
® bolts and nuts : stainless steel (bolts:AlS1304-A2; nuts:AlSI316-A4)
® colour: blue-black
e Key kit type (L=little; M=medium; B=big)
e B= N° of bolts
e M= bolt type
d dl |PN |B M Key Kit type |Code
[mm] | [mm]
50| 20| 16 4 M8X50 L |700 627 748
50| 25| 16 4 M8X50 L|700 627 749
50| 32| 16 4 M8X50 L |700 627 750
63| 20| 16 4 M8X50 L|700 627 751
63| 25| 16 4 M8X50 L|700 627 752
63| 32| 16 4 M8X50 L|700 627 753
75| 25| 16 4 M8X70 M| 700 627 754
75| 32| 16 4 M8X70 M| 700 627 755
75| 40| 16 4 M8X70 M| 700 627 756
90| 25| 16 4 M8X70 M| 700 627 757
90| 32| 16 4 M8X70 M| 700 627 758
90| 40| 16 4 M8X70 M| 700 627 759
110| 25| 16 6 M8X70 M| 700 627 760
110| 32| 16 6 M8X70 M| 700 627 761
110| 40| 16 6 M8X70 M| 700 627 762
110 50| 16 6 M8X70 B |700 627 763
110| 63| 16 6 M8X70 B|700 627 764
110 75| 16 6 M8X70 B | 700 627 765
125| 32| 16 6 M8X70 B | 700 627 766
125 40| 16 6 M8X70 B| 700 627 767
125| 50| 16 6 M8X70 B|700 627 768
125| 63| 16 6 M8X70 B|700 627 769
125| 75| 16 6 M8X70 B|700 627 770
140| 32| 16 6| M10X100 B|700 627 771
140| 40| 16 6| M10X100 B|700 627 772
140| 50| 16 6| M10X100 B|700 627 773
140| 63| 16 6| M10X100 B|700 627 774
140 75| 16 6| M10X100 B|700 627 775
160| 32| 16 6| M10X110 B | 700 627 776
160| 40| 16 6| M10X110 B| 700 627 777
160| 50| 16 6| M10X110 B|700 627 778
160| 63| 16 6| M10X110 B|700 627 779
160| 75| 16 6| M10X110 B| 700 627 780
d d1 |[d2 |H H1 |L L1 |z
[mm] | [mm] | [mm] |[mm] |[mm] |[mm] |[mm] | [mm]
50| 20| 26| 118| 58| 75| 55| 80
50| 25| 26| 118| 58| 75| 58| 90
50| 32| 26| 118| 58| 75| 64| 100
63| 20| 26| 125| 65| 90| 55| 80
63| 25| 26| 125| 65| 90| 60| 90
63| 32| 26| 125| 65| 90| 63| 100

wGE



d dl |d2 |H H1 |L L1 |z
——— [mm] | [mm] | [mm] | [mm] | [mm] | [mm] |[mm] | [mm]
Mt
|I et :II — . 75| 25| 33| 142| 75| 98| 60| 90
. ¥ [  — 75| 32| 33| 142| 75| 98| 62| 100
” ! E ] : 75| 40| 33| 142| 75| 98| 74| 120
|| F 90| 25| 33| 152| 85| 100 60| 90
A L 90| 32| 33| 152| 85| 100| 62| 100
™ 90| 40| 33| 152| 85| 100 74| 120
"Rl | 110 25| 33| 190| 108| 130| 60| 100
T 110| 32| 33| 190| 108 | 130| 77| 118
110| 40| 33| 190| 118| 130| 87| 130
110| 50| 40| 205| 118| 130| 108 | 151
110| 63| 40| 205| 118| 130| 125| 180
110| 75| 40| 205| 118| 130| 146 | 205
125| 32| 40| 210| 115| 135| 76| 120
125| 40| 40| 210| 115| 135| 87| 130
125| 50| 40| 225| 130| 135| 102 | 146
125| 63| 40| 225| 130| 135| 128 | 180
125| 75| 40| 225| 130| 135| 146 | 205
140| 32| 40| 225| 125| 155| 72| 120
140| 40| 40| 225| 125| 155| 87| 130
140 50| 40| 240| 135| 155| 102 | 146
140| 63| 40| 240| 135| 155| 128 | 180
140 75| 40| 240| 135| 155| 146 | 205
160| 32| 40| 235| 140| 160| 76| 120
160| 40| 40| 235| 140| 160| 87| 130
160| 50| 40| 250| 155| 160 | 110 | 146
160| 63| 40| 250| 155| 160| 128 | 180
160| 75| 40| 250| 155| 160 | 146 | 205
+GF+ 47



684F - Tapping Saddle for PE and PVC pipes with

threaded female offtake, flat gasket and stainless steel

bolts and nuts

water PN16
e female thread: ISO 7 (parallel)

e suitable for PE, PEX-a and PVC pipes
® material: PP
e cutter: brass
® gasket: NBR (saddle: O-ring with flat lip; sealing cup: O-ring)
® bolts and nuts : stainless steel (bolts:AlS1304-A2; nuts:AlSI316-A4)
e colour: blue
® colour: blue-black
e Key kit type (L=little; M=medium; B=big)
——— e B= N° of bolts
I e M= bolt type
[ d Rp |PN |B M Key Kit type |Code d2 |H H1 |L z
+ [mm] | [inch] [mm] | [mm] | [mm] | [mm] | [mm]
50 1 16 4 M8X50 L|700 627 791 26| 118| 58| 75| 61
63 1 16 4 M8X50 L |700 627 792 26| 125 65| 90| 61
75 1 16 4 M8X70 M| 700 627 793 33| 142| 75| 98| 61
90 1 16 4 M8X50 M| 700 627 794 33| 152| 85| 100| 61
90 2| 16 4 M8X50 M| 700 627 795 33| 152| 85| 100| 72
110 1 16 6 M8X50 M| 700 627 796 33| 190| 108 | 130| 78
110 2 16 6 M8X50 B |700 627 797 40| 205| 118| 130| 80
125 2| 16 6 M8X50 B|700 627 798 40| 225| 130| 135| 80
140 2| 16 6| M10X100 B|700 627 799 40| 240| 135| 155| 80
160 2| 16 6| M10X100 B|700 627 800 40| 250| 155| 160| 80
" Key kit for Tapping Saddle Universal Line
e Essential for Tapping Saddle Universal Line assembly
V1) Dim. Code
=
L (little) | 158 001 777
M (medium) | 158 001 778
B (big) | 158 001 779
48 | +GF+



POLY16 Plus Tapping Saddle PE LINE

680C - Tapping Saddle for PE pipes with compression
fitting offtake, O-ring gasket and galvanized bolts and
nuts

o water PN16

e suitable for PE and PEX-a pipes
® material: PP
e cutter: stainless steel (AlIS1304) and polyacetalic resin (POM)
e gasket: NBR (saddle and sealing cup: O-ring; offtake: double lip)
® bolts and nuts : galvanized
® colour: blue
® colour: blue-black
— e B= N° of bolts
| ® M= bolt type
fi ==
2 # H : E . d |d1 |[PN |[B |M Code d2 |H |H1 |L |11 |z
Ll a..;ll . ! i [mm] | [mm] [mm] | [mm] | [mm] |[mm] |[mm] | [mm]
[T~ 2] 50| 20| 16| 4| M8X50|700627715 | 26| 118| 58| 75| 55| 80
i) [ 50| 25| 16| 4| M8x50|700627716 | 26| 118| 58| 75| 58| 90
S, | 50| 32| 16| 4| M8X50|700627717 | 26| 118| 58| 75| 64| 100
e 63| 20| 16 4 M8X50 | 700 627 718 26| 125| 65| 90| 55| 80
63| 25| 16 4 M8X50 | 700 627 719 26| 125 65| 90| 60| 90
63| 32| 16 4 M8X50 | 700 627 720 26| 125| 65| 90| 63| 100
75| 25| 16| 4| M8X70|700 627 721 33| 142| 75| 98| 60| 90
75| 32| 16| 4| M8X70|700627722 | 33| 142| 75| 98| 62| 100
75| 40| 16 4 M8X70| 700 627 723 33| 142| 75| 98| 74| 120
90| 25| 16 4 M8X70| 700 627 724 33| 1562| 85| 100| 60| 90
90| 32| 16 4 M8X70 | 700 627 725 33| 152| 85| 100| 62| 100
90| 40| 16| 4| M8X70|700627726 | 33| 152| 85| 100| 74| 120
110| 25| 16 6 M8X70| 700 627 727 33| 190| 108 | 130| 60| 100
110 32| 16 6 M8X70 | 700 627 728 33| 190| 108 | 130| 77| 118
110| 40| 16 6 M8X70| 700 627 729 33| 190| 118 | 130| 87| 130
110| 50| 16 6 M8X70| 700 627 730 40| 205| 118| 130 | 108| 151
110| 63| 16 6 M8X70 | 700 627 731 40| 205| 118| 130| 125| 180
110| 75| 16 6 M8X70 | 700 627 732 40| 205| 118| 130 | 146 | 205
125| 32| 16 6 M8X70| 700 627 733 40| 210| 115| 135| 76| 120
125| 40| 16| 6| M8X70/700627734 | 40| 210| 115| 135| 87| 130
125| 50| 16 6 M8X70| 700 627 735 40| 225| 130| 135| 102 | 146
125| 63| 16 6 M8X70 | 700 627 736 40| 225| 130| 135| 128 | 180
125| 75| 16 6 M8X70| 700 627 737 40| 225| 130| 135| 146 | 205
140| 32| 16 6| M10X100 | 700 627 738 40| 225| 125| 155| 72| 120
140| 40| 16| 6| M10X100|700627 739 | 40| 225| 125| 155| 87| 130
140| 50| 16 6| M10X100 | 700 627 740 40| 240| 135| 155| 102 | 146
140| 63| 16| 6| M10X100 |700 627 741 40| 240| 135| 155| 128 180
140| 75| 16 6| M10X100 | 700 627 742 40| 240 | 135| 155| 146 | 205
160| 32| 16| 6| M10X110|700627743 | 40| 235| 140| 160| 76| 120
160| 40| 16| 6| M10X110|700627 744 | 40| 235| 140| 160| 87| 130
160| 50| 16 6| M10X110 | 700 627 745 40| 250 | 155| 160 | 110| 146
160| 63| 16 6| M10X110 | 700 627 746 40| 250 | 155| 160 | 128 | 180
160| 75| 16 6| M10X110 | 700 627 747 40| 250 | 155| 160 | 146 | 205

+GF+ 49



680F - Tapping Saddle for PE pipes with threaded female
offtake, O-ring gasket and galvanized bolts and nuts
e water PN16

e female thread: ISO 7 (parallel)
e suitable for PE and PEX-a pipes
® material: PP
e gasket: NBR (saddle and sealing cup: O-ring)
® bolts and nuts : galvanized
® colour: black
e B= N° of bolts
e M= bolt type
d Rp [PN |B M Code d2 |H H1 |L z
[mm] | [inch] [mm] | [mm] | [mm] | [mm] | [mm]
50 1 16 4 M8x50 | 700 627 781 26| 118| 58| 75| 61
63 1 16 4 M8x50 | 700 627 782 26| 125| 65| 90| 61
75 1 16 4 M8x70 | 700 627 783 33| 142| 75| 98| 61
90 1 16 4 M8x70 | 700 627 784 33| 152| 85| 100| 61
90 2| 16 4 M8x70 | 700 627 785 33| 152| 85| 100| 72
110 1 16 6 M8x70 | 700 627 786 33| 190| 108 | 130| 78
110 2 16 6 M8x70 | 700 627 787 40| 205| 118| 130| 80
125 2| 16 6 M8x70 | 700 627 788 40| 225| 130| 135| 80
140 2| 16 6| M10X100 | 700 627 789 40| 240| 135| 155| 80
2 6

M10X110 | 700 627 790 40| 250| 155| 160| 80

50 +5F+



POLYFAST AZ

Compression
fittings

and clamp
saddles

+(5F+



POLYFAST AZ Compression Fittings
Technical information

Materials Standards

Body, Thrust ring: For PE pipe:

polypropylene copolymer stabilized (PP-B] ISO 11922-1; 1S0O 12162; 1S0 4427; DIN 8074; EN
Nut: 12201-1/2; AS/NZS 4130; BS 6572; UNI 7990
polypropylene copolymer stabilized (PP-B) with Master Threads:

Batches UV stabilized (Grade 8, ASTM D2565, 1-8) ISO 7-1; DIN EN 10226-1; BS 21; AS 1722.1
Clamp ring: Flanges:

Acetalic resin (POM) DIN 2501.1; DIN 8063-4; ISO 7005

Gasket: Test Standards:

Food safe rubber (NBR }; d20-63 sh70 / d75-110 sh60 ISO 14236; DIN 8076-3; AS/NZS 4129; UNI 9561
Reinforcement ring:
Stainless Steel AISI 430 (for female thread from See single item tables
171/4 to 47)

Colour
Body, Thrust ring, Rubber: Black
Nut: green

Clamp ring: white

Nominal Pressure (PN):

Working temperature range (C°): -10° +45°

Relation between working pressure and temperature

TEMPERATURE (C°) -10°/ + 25° +26° [ +35° +36° [ +45°
PFA* (PN 16 12,5 10
PFA* (PN 12,5 10 8
PFA* (PN) 10 8 d
PFA* [PN] 6 4,5 N.A.

* In accordance with EN805

Sanitary
Fittings suitable for drinking water. The materials comply with all major legislations and recommendations for
food and potable water contact.

Components and detailed notes

4 @

52|

=

®
-
@

czgasket

A complete range of compression fittings allows assembly on all types of
polyethylene pipes (PE HD, PE LD, PE 80, PE 100] with no need to dissasemble
the fitting. After loosening the nut the pipe can be inserted directly to the pipe-stop
(Push-fit type).

1) The body, in black polypropylene, is designed and manufactured as a unique
modular construction with axial reinforcements. The production batch number
is on every body thus ensuring easy traceability.

2) The thrust ring, in polypropylene, applies pressure on the lip gasket after the nut
has been tightened thus allowing an ideal compression of the gasket on the

pipe.

3) The floating split ring, in polyacetal, allows perfect resistance to possible pullout
forces without having a negative impact on the tightness of the fitting.

4) The nut in green polypropylene offers an outstanding resistance to impact. The
nut in green polypropylene is perfectly resistant to UV rays, too.

5) The only fitting with “pre-lubricated double lip-gasket” in NBR patended by
Georg Fischer allowing to overcome: oval- scratched-undersized pipes. The
double lip gasket assures in course of compression a perfect adherence to the
pipe as it covers widely its surface and consequently a constant seal over the full
life-time of the fitting. The double lip gasket grants high resistance in case of
vacuum and/or suction, too.

+GF+



POLYFAST AZ Compression Fittings
Assembly Instructions

Before proceeding with the assembly, please check the presence of all components (seal, thrust ring, split ring).

1.

<o
=2 -

Cut the pipe square and deburr it. Grease the seal, in case it is dry. Partially unscrew the nut.
Mark the insert depth on the pipe (see table: insert depth).
Push the pipe into the fitting through the split ring until the first stop, meaning you have reached the seal.

Push the pipe through the seal until you reach the pipe stop of the fitting. Check the mark of the insert depth on the
pipe for correct assembly.

. Tighten the nut as tightly as possible. Manual or mechanical tightening of the nut using a standard wrench until diame-

ter d 32. Mechanical tightening of the nut using a standard wrench from diameter d 40.

INSERT DEPTH

0 mm
16 45
20 45
25 50
32 55
40 60
50 65
63 85
75 110
90 120
110 140

+GF+ 53



POLYFAST AZ COMPRESSION FITTINGS

90° Elbow with threaded female offtake

e With stainless steel reinforcement ring (*)

d Rp PN |Code d1 d2 L L1 L2 |H
[mm] | [inch] [mm] | [mm] | [mm] |[mm] |[mm] |[mm]
16 | 10|700 627 916 22| 46 71 58| 18 50
K g 16 %| 10|700 627 917 22| 46 71 58| 18 50
20 2| 10|700 627 658 22| 46 71 58| 18 50
g 20 %| 10|700 627 918 22| 46 71 58| 18 50
-:1’.".1:} 1 25 %| 10(700 627 919 28 54 75| 60| 17 35
| ! 25 ¥%| 10|700 627 659 28 54 75| 60| 17 35
J.__ ].[ ! g 25 1 10700 627 920 28 54 75 60| 17 45
| | - 32 2| 10|700 627 581 34 64| 85| 68| 18| 40
N 32 %| 10|700 627 582 34 64| 85| 68| 18| 40
| 32 1 10| 700 627 660 34 64| 85| 68| 18| 40
*40 1%| 10|700 627 661 42 77| 105| 78| 30 54
*50 1%| 10|700 627 662 52 88| 105| 76| 27 55
*50 2| 10|158 001 019 53 93| 130| 96| 28 75
*63 2| 10|700 627 663 66| 106| 130 95| 29 70
*75 2%| 10|700 627 921 78| 134 | 178| 129| 48 75
*90 3| 10|700 627 922 93| 156| 227 | 155| 62| 100
*110 4| 10|700 627 923 114 | 177 | 247| 159| 57| 116
90° Tee with threaded male offtake
d R PN |Code dl |d2 |L L1 (L2 |H
[mm] | [inch] [mm] | [mm] | [mm] |[mm] |[mm] |[mm]
16 2| 10|700 627 924 22| 44| 134| 53| 28| 50
" 16 ¥%| 10|700 627 925 22| 44| 134| 53| 28| 50
T TR TR 20| %| 10|700627926 | 22| 44| 137| 54| 26| 50
ey B 20 ¥%| 10|700 627 927 22| 46| 143| 58| 18| 50
i - : . ! 25 %| 10|700 627 976 28| 54| 150| 62| 18| 48
B rg E‘l 2B 25 ¥%| 10|700 627 928 28| 54| 150| 62| 18| 48
1 e ! 25 1 10| 700 627 929 28| 54| 150| 62| 18| 50
e 32 %| 10|700 627 930 34| 64| 170| 68| 19| 50
- 32 1 10| 700 627 931 34| 64| 170| 68| 19| 51
40| 1%| 10|700 627 932 34| 64| 170 68| 19| 53
50| 1%| 10|700 627 933 52| 88| 210| 76| 27| 76
63 2| 10|700 627 934 66| 106| 262| 95| 29| 82
90° Elbow with threaded male offtake
d R PN |Code dl |d2 |L L1 (L2 |H
[mm] | [inch] [mm] | [mm] | [mm] [[mm] |[mm] |[mm]
16 2| 10700 627 935 22| 46| 71| 58| 18| 50
. - 16 ¥%| 10|700 627 960 22| 46| 71| 58| 19| 50
. - 20 | 10|700 627 936 22| 44| 69| 54| 26| 50
- . 20 Y% | 10|700 627 961 22| 46| 71| 58| 18| 50
' 25 2| 10|700 627 937 28| 54| 75| 60| 17| 50
# “T1 25 %| 10|700 627 938 28| 54| 75| 60| 17| 50
[— adl | 25 1 10| 700 627 939 28| 54| 75| 60| 17| 50
; 32 1 10700 627 853 34| 64| 85| 68| 18| 50
L 1 40| 1%| 10|700 627 940 42| 77| 105| 77| 30| 76
- 50| 1%| 10|700 627 941 52| 88| 110| 76| 26| 77
63 2| 10]700 627 942 66| 106| 130 95| 29| 82

wGE



d PN |Code d1 |d2 |L L1 |L2

[mm] [mm] | [mm] | [mm] | [mm] | [mm]

16| 10|700 627 943 22| 44| 59| 26| 56
20| 10|700 627 664 22| 44| 59| 26| 56
25| 10|700 627 665 28| 52| 63| 32| 59
32| 10|700 627 666 34| 60| 66| 27| 63
40| 10(700 627 667 52| 88| 87| 30| 81

50| 10|700 627 668 42| 77| 84| 31| 79
63| 10|700 627 669 66| 106 | 108 | 43| 103
75| 10700 627 944 78| 134| 178| 55| 136
90| 10|700 627 945 93| 156 | 208 | 68| 162
110| 10|700 627 946 | 114 | 177| 224| 71| 175

Male adaptor

d R PN |Code d1 |d2 |L L1 |L2

[mm] | [inch] [mm] | [mm] | [mm] | [mm] | [mm]

16 2| 10|700 627 854 22| 44| 73| 27| 52
16 % | 10|700 627 855 22| 44| 71| 31| 57
20 2| 10|700 627 670 22| 44| 76| 24| 55
I N 20 %| 10|700 627 671 22| 44| 75| 25| 55

. | 25 2| 10|700 627 856 28| 52| 81| 32| 61

25 %| 10(700 627 672 28| 52| 80| 29| 60
25 1| 10|700 627 673 28| 52| 80| 32| 60

. 32 %| 10|700627857 | 34| 60| 83| 26| 63
S 32 1] 10|700627674 | 34| 60| 83| 26| 63
- . 32| 1%| 10[700627675 | 34| 60| 81| 25| 60

40 1| 10|700 627 955 42| 77| 104 30| 78
40| 1%| 10|700 627 676 42| 77| 105, 30| 78
40| 1%| 10|700 627 858 42| 77| 105 30| 78
50| 1%| 10|700 627 677 52| 88| 109| 32| 82
50 2| 10|700 627 859 52| 88| 109| 32| 82

63| 1%| 10|700 627 860 66| 106| 128| 43| 103
63 2| 10|700 627 678 66| 106 | 133| 43| 103
63| 2%| 10700 627 861 65| 117| 160| 41| 119

2| 10|700 627 862 78| 134| 173| 56| 136
75| 2%| 10|700 627 863 78| 134| 174| 56| 136

75 3| 10|700 627 956 78| 134| 178| 56| 136
90 2| 10|700 627 864 93| 160| 205| 68| 168
90| 2%| 10|158 001 020 93| 156 | 203| 68| 161
90 3| 10|700 627 865 93| 156 | 203| 68| 161
90 4| 10|700 627 866 93| 156 | 203| 68| 161
110 4| 10|700627 867 | 114 177| 226| 71| 175

+GF+



Flanged joint without metal flange

d Inch DN |PN |Code dl |d2 |d3 |d4 |L L1 |L2
[mm] [mm] [mm] | [mm] [[mm] |[mm] |[mm] | [mm] | [mm]
50 2| 50| 10|700 627 947 54| 93| 174| 125| 170 36| 100
63 2| 50| 10|700 627 948 65| 117 | 174 | 125| 193 | 48| 126
63| 2%| 65| 10|700 627 949 65| 117 | 185| 145| 195| 48| 127
75| 2%| 65| 10|700 627 950 78| 134| 185| 145| 197 | 104 | 185
75 3| 80| 10|700 627 951 78| 134| 200| 160| 197 | 82| 162
90 3| 80| 10|700 627 952 93| 160 | 200| 160 | 232| 65| 166
90 4| 100| 10|700 627 953 93| 160| 220 | 181| 232| 65| 166
110 41 100| 10|700627954 | 113 | 181| 220| 181 | 239| 107 | 220

Female adaptor
e \Vith stainless steel reinforcement ring (*)

d Rp PN |Code d1 d2 |L L1 |L2

[mm] | [inch] [mm] | [mm] | [mm] |[mm] |[mm]
16 2| 10|700 627 868 22| 44| 77| 25| 54
16 %| 10|700 627 957 22| 44 77| 25| 54
3 d " 20 2| 10|700 627 679 22| 44 77| 25| 54
4 1 20 %| 10(700 627 869 22| 44| 77| 25| 54
| L 25 2| 10|700 627 870 28| 54| 87| 21 63
Bl | ¥ 25 %| 10|700 627 680 28| 54| 87| 21 63
e . 25 1 10| 700 627 871 28 54| 87| 21 63
32 %| 10|700 627 872 34| 64| 94| 21 67
* * 32 1| 10|700 627 681 34| 64| 94| 21 67
*32 1%| 10|700 627 682 34| 64| 92| 18| ©64
40 1| 10|700 627 873 42| 77| 105| 30| 78

*40 1%| 10|700 627 683 42| 77| 105| 30| 78
*50 1%| 10|700 627 874 52| 86| 11| 32| 82
*50 1%| 10|700 627 684 52| 86| 111 32| 82
*63 1%| 10|700 627 875 66| 106| 127| 34| 94

*63 2| 10|700 627 685 66| 106| 127| 34 94
*75 2| 10|700 627 876 78| 134| 169| 55| 136
*75 2%| 10|700 627 958 78| 134 | 174| 55| 135
*90 2| 10|700 627 877 93| 156| 202| 68| 160
*90 2%| 10|158 001 021 93| 156| 202| 68| 160
*90 3| 10|700 627 878 93| 156| 202| 68| 160

*110 3| 10|700 627 879 114 | 177 222 71| 175

*110 4| 10|700 627 880 114 | 177 | 222| 71| 175

Coupling
d PN |Code d1 |d2 |L L1 |[L2
[mm] [mm] | [mm] |[mm] |[mm] |[mm]

16| 10700 627 881 22| 44| 117| 57| 32
20| 10|700 627 686 22| 44| 122| 60| 32
25| 10|700 627 687 28| 54| 119| 58| 16
32| 10|700 627 688 34| 64| 134| 66| 17
40| 10(700 627 689 42| 77| 178| 88| 40

E = 50| 10|700 627 690 52| 88| 195| 96| 46
7t 63| 10700 627 691 66| 106 | 214| 105| 45

75| 10|700 627 882 78| 134| 290| 143| 53

90| 10|700 627 883 93| 156 | 290 | 140| 42

110| 10[700 627 884 | 114| 177| 320| 150| 48

56 +5F+



Reducing coupling

d-d PN |Code dl |d2 |d3 |d4 |L L1 |L2 |L3

[mm] [mm] | [mm] | [mm] |[mm] | [mm] | [mm] |[mm] | [mm]

20-16| 10|700 627 885 22| 44| 22| 44| 118| 60| 33| 56
25-20| 10|700 627 710 28| 52| 22| 44| 121 59| 30| 61
32-25| 10|700627 711 34| 60| 28| 52| 124 61| 25| 61
40-32| 10|700627 712 42| 77| 34| 60| 164| 110| 62| 61
50-40| 10|700 627 713 52| 88| 42| 77| 194| 125| 76| 110

63-50| 10|700 627 714 66| 106| 52| 86| 205| 135| 75| 70
75-63| 10|700 627 886 78| 134| 65| 117| 249| 129| 48| 116
90-63| 10|700 627 959 93| 156| 65| 117| 355| 188 | 87| 160
90-75| 10|700 627 887 93| 156| 78| 134| 366| 188 | 87| 175
110-90| 10|700627888 | 114 | 177| 93| 156| 411| 211| 93] 195

90° Tee
d PN |Code d1 d2 L L1 L2 H
[mm] [mm] | [mm] |[mm] |[mm] |[mm] |[mm]

16| 10|700 627 889 22| 44| 134| 53| 28| 68
20| 10|700 627 692 22| 44| 137| 54| 26| 69
25| 10|700 627 693 28| 54| 150| 62| 18| 75
32| 10|700 627 694 34| 64| 170| 68| 19| 85
40| 10700 627 695 42| 77| 210 78| 30| 105

50| 10|700 627 696 52| 88| 210| 75| 27| 105
63| 10|700 627 697 66| 106 | 262| 95| 29| 130
75 6| 700 627 890 78| 134| 360| 129| 48| 180
90 6|700 627 891 93| 156 | 455| 175| 83| 227
110 6|700 627 892 | 114| 177 | 490 | 182| 79| 224

90° Tee with threaded female offtake

o WVith stainless steel reinforcement ring (*)

d Rp PN |Code d1 d2 |L L1 L2 |H

[mm] | [inch] [mm] | [mm] |[mm] |[mm] |[mm] |[mm]
| 16 2| 10700 627 893 22| 44| 134| 53| 28| 48
= = 16 Y| 10|700 627 894 22| 44| 134| 53| 28| 53
20 2| 10|700 627 698 22| 44| 137| 54| 26| 48
P 20 %| 10|700 627 895 22| 44| 137| 54| 26| 53
25 2| 10700 627 896 28 54| 150 62| 18 32
i JI 25 Y| 10|700 627 699 28| 54| 150 62| 18| 32
4 25 1| 10|700 627 897 28| 54| 150 62| 18| 40
32 2| 10700 627 898 34| 64| 170 68| 19| 40
o 32 %| 10700 627 899 34| 64| 170| 68| 19| 40
| 32 1| 10|700 627 700 34| 64| 170 68| 19| 40
40 1| 10|158 001 022 44| 82| 238| 87| 27| 53
U *40 1%| 10|700 627 701 42 77| 210 78| 30 54
*50 1%| 10|700 627 702 52| 88| 210 76| 27| 55
e *63 1%| 10|700 627 901 65| 117| 317| 113| 35| 70
*63 2| 10|700627 703 66| 106| 262| 95| 29| 70
*75 2%| 10|700 627 902 78| 134| 360| 129| 48| 75

*90 3| 10|700 627 903 93| 156| 455| 175| 83| 101
*110 4| 10|700 627 904 114 | 177| 490| 182| 79| 115

+GF+



90° Reducing-increasing Tee

d-d-d PN |Code d1 |d2 |d3 [d4 |L L1 |L2 |L3 |L4
[mm] [mm] | [mm] | [mm] |[mm] |[mm] |[mm] |[mm] | [mm] | [mm]
20-16-20| 10|700 627 905 22| 46| 22| 46| 143| 58| 18| 57| 18
20-25-20| 10|700 627 906 22| 46| 28| 54| 144| 58| 18| 59| 17
25-20-25| 10|700 627 907 28| 54| 22| 46| 153| 58| 17| 58| 18
25-32-25| 10|700 627 908 28| 54| 35| 64| 155| 59| 17| 65| 19
e ] 32-25-32| 10(700 627 909 35| 64| 28| 54| 173| 64| 19| 63| 21
w1 = 40-32-40| 10|700 627 850 44| 82| 35| 64| 238| 87| 27| 66| 21
= 50-40-50| 10700627 910 53| 93| 44| 82| 259| 96| 28| 94| 38
it =t 63-50-63| 10(700 627 911 65| 117| 53| 93| 317| 113| 35| 90| 28
e 75-63-75| 10|700 627 977 78| 134| 65| 117| 360| 129| 48| 113| 35
(] - = e
LI — ;
' 1 o
! g
##
90° Elbow
d PN |Code dl |d2 |L L1 |L2
[mm] [mm] | [mm] | [mm] | [mm] | [mm]
16| 10|700 627 912 22| 46| 71| 58| 18
20| 10|700 627 704 22| 44| 69| 54| 26
- 2 25| 10|700 627 705 28| 54| 75| 60| 17
i 32| 10|700 627 706 34| 64| 85| 68| 18
i 1 40| 10|700 627 707 42| 77| 105 78| 30
1 | | 50| 10|700 627 708 52| 88| 105| 76| 27
re 1% = | 63| 10|700 627 709 66| 106 | 130| 95| 29
i 75| 10|700 627 913 78| 134| 178| 129| 48
11 90| 10|700 627 914 93| 156 | 227 | 155| 63
[| Pr=t= 110| 10|700 627915 | 114 | 177 | 247| 159 | 57

+GF+



POLYFAST AZ Clamp Saddles without reinforcing ring
Technical information

ISO 11922-1; DIN 8074; AS/NZS 4130; EN 12201-1/2;

BS 6572; 1S0 4427; BS 6730; UNI 7990;

Materials

Body: Standards
polypropylene copolymer stabilized (PP-B) with For PE pipe:
Master

Batches UV stabilized (Grade 8, ASTM D2565, 1-8)

Gasket: For PVC pipe:
Food safe rubber (NBR); 70 sh UNI EN 1452-1/2
Bolts and nuts: Threads:
galvanized

ISO 7-1; DIN EN 10226-1; BS 21; AS 1722.13

Test Standards:

ISO 13460; AS/NZS 4129
Nominal Pressure PFA (PN):
See single article tables

Working temperature range (C°): -10° +45°

Relations between working pressure and temperature

TEMPERATURE (C°) -10°/ + 25° +26° [ +35° +36° [ + 45°
PFA* (PN]) 16 12,5 10
PFA* (PN]) 12,5 10 8
PFA* (PN]) 10 8 6
PFA* (PN]) 6 4,5 N.A.

* In accordance with EN805

Sanitary

Clamp saddles suitable for drinking water. The materials comply with all major legislations and recommenda-
tions for food and potable water contact.

List of abbreviations

BS British Standard DN Nominal diameter

DIN Deutsche Industrie-Norm PFA [PN)  Working pressure allowable

ISO International Standardization Organisation kg weight in kilogramm

PP Polypropylene SP standard package (bag)

PE Polyethylene GP Gross Pack (cm. 59x25x41)

NBR Nitrile butadiene rubber R Conical Male thread

d Pipe outside diameter Rp Parallel female thread
+GF+



POLYFAST AZ CLAMP SADDLES

150 - Black clamp saddles with O-ring gasket and
galvanized bolts and nuts (PN12,5)

® B = No. of bolts

e M = bolt type

d Rp PN |B M Code d1 |L L1 |H H1
[mm] | [inch] [mm] | [mm] | [mm] |[mm] |[mm]
20 %| 12,5 M8X30 | 158 001 590 12| 46| 77| 59| 26
25 | 12,5 M8X30 | 158 001 591 13| 49| 79| 58| 15
- = 25 %\ 12,5 M8X30 | 158 001 592 13| 49| 79| 58| 15
= 32 %| 12,5 M8X30 | 158 001 593 14| 49| 79| 62| 20
=1 32 %|12,5 M8X30 | 158 001 594 14| 49| 79| 62| 20
o 2 el e 32 10125 M8X30 [158 001595 | 14| 62| 87| 70| 20
f = 40 | 12,5 M8X40 | 158 001 596 21| 62| 86| 71| 20
40 %\ 12,5 M8X40 | 158 001 597 21| 62| 86| 71| 20
. 40 11125 M8X40 | 158 001 598 21| 62| 86| 70| 19
= 50 %] 12,5 M8X40 | 158 001 599 21| 62| 86| 82| 20
50 %| 12,5 M8X40 | 158 001 600 21 62| 86| 82| 20
50 11125 M8X40 | 158 001 601 21| 62| 86| 82| 20
50| 1%|125 M8X40 | 158 001 602 21| 62| 86| 82| 20
63 %l 12,5 M8X40 | 158 001 605 18| 62| 101| 96| 21
63 %|12,5 M8X40 | 158 001 606 24| 62| 101| 96| 21
63 11125 M8X40 | 158 001 607 31| 62| 101| 96| 21
63| 1%|125 M8X40 | 158 001 609 31| 62| 101| 96| 21
63| 1%[125 M8X40 | 158 001 608 31| 62| 101| 96| 21
75 %| 12,5 M8X70 | 158 001 610 16| 79| 123| 102| 14
75 %\ 12,5 M8X70 | 158 001 611 21| 79| 123| 104| 16
75 11125 M8X70 | 158 001 612 27| 79| 123| 107| 19
75| 1% 12,5 M8X70 | 158 001 614 35| 79| 123| 109| 21
75| 1% 125 M8X70 | 158 001 613 42| 79| 123| 109| 21
75 21125 M8X70 | 158 001 615 53| 79| 123| 112| 24
90 %] 12,5 M8X70 | 158 001 616 16| 87| 138| 116| 14
90 %| 12,5 M8X70 | 158 001 617 21| 87| 138| 118| 16
90 11125 M8X70 | 158 001 618 27| 87| 138 121 19
90| 1%|125 M8X70 | 158 001 620 35| 87| 138| 123| 21
90| 1%|12,5 M8X70 | 158 001 619 42| 87| 138| 123| 21
90 21125 M8X70 | 158 001 621 53| 87| 138| 126| 24

110 V2| 12,5
110 %] 12,5

M8X50 | 158 001 622 15| 99| 152| 150| 23
M8X50 | 158 001 623 20| 99| 152| 150| 23
M8X50 | 158 001 624 26| 99| 152| 150| 23
M8X50 | 158 001 626 35| 99| 162| 150| 23
M8X50 | 158 001 625 41 99| 152| 150| 23

M8X50 | 158 001 627 51| 99| 162| 150| 23
M8X50 | 158 001 628 15| 101| 166 | 169| 24
M8X50 | 158 001 629 20| 101| 166 | 169| 24
M8X50 | 158 001 630 26| 101| 166 | 169| 24
M8X50 | 158 001 632 35| 101| 166| 168 | 23

M8X50 | 158 001 631 411 101 | 166 | 168 | 23
M8X50 | 158 001 671 50| 101| 166 | 168| 23
M8X70 | 158 001 257 18| 114| 207 | 191| 25
M8X70 | 158 001 258 24| 114| 207 | 190| 24
M8X70 | 158 001 259 30| 114| 207 | 190| 24

M8X70 | 158 001 260 45| 114| 207 | 189| 23
M8X70 | 158 001 261 38| 114| 207 | 190| 24
M8X70 | 158 001 262 50| 114| 207 | 190| 24
M8X70 | 158 001 263 18| 114| 226 | 215| 24
M8X70 | 158 001 264 24| 114| 226 | 215| 24

M8X70 | 158 001 265 30| 114| 226| 215| 24
M8X70 | 158 001 266 45| 114| 226 | 215| 24
M8X70 | 158 001 267 37| 14| 226 | 215| 24
M8X70 | 158 001 268 50| 114| 226 | 215| 24

10| 1%| 12,5
10| 1%| 12,5

110 21125
125 V2| 12,5
125 %1125

125| 1%| 12,5
125 1%| 12,5

140 11125

140 1%| 125
140| 1%| 12,5
140 21125
160 2| 12,5
160 %1125

160 11125
160| 1%| 12,5
160 | 1%]|12,5
160 21125

ARARAD AR PEADED DDA DED DDADDID BRI DN BABRRARADN BADBEADEDE BDDRDEDED DBANONN NDNNNN NMNNNN

60 +5F+



160 - Double black clamp saddles with O-ring gasket
and galvanized bolts and nuts (PN12,5)
® B = No. of bolts

® M = bolt type
d |Rp |PN |B |M Code di L L1 |H |H1
[mm] | [inch] [mm] | [mm] | [mm] | [mm] | [mm]
25| %|125| 2| M8X30|158001633 | 13| 49| 79| 80| 15
25| %|125| 2| M8X30|158001634 | 13| 49| 79| 80| 15
_ 32|  %[125| 2| M8X30|158001635 | 14| 49| 79| 80| 20
32|  %[125| 2| M8X30|158001636 | 14| 49| 79| 80| 20
32 1/12.5| 2| M8X40(158001269 | 14| 62| 87| 87| 20
mn | 11 40|  %|125| 2| M8X50|158001637 | 21| 62| 86| 91| 20
prtn 40|  %|125| 2| M8X50|158001638 | 21| 62| 86| 91| 20
i i == 40 1012,5| 2| M8X50|158 001712 | 42| 87| 138| 145| 21
i i) 50| '%h|125| 4| M8X50|158001639 | 21| 62| 86| 101| 20
50| %|125| 2| M8X50|158001640 | 21| 62| 86| 101| 20
L 50 1012.5| 2| M8X50|158001641 | 21| 62| 86| 101| 20
63| k| 125| 4| M8X50|158001642 | 18| 62| 101| 115 21
[ | ° g 63| % |125| 4| M8X50|158001643 | 24| 62| 101| 115| 21
63 1/12.5| 4| M8X50 (158 001644 | 31| 62| 101| 115| 21
63| 1%|125| 4| M8X50|158001646 | 31| 62| 101| 115 21
63| 1%|125| 4| M8X50/158001645 | 31| 62| 101| 115| 21
75| %|125| 4| M8X70|158001647 | 16| 79| 123| 115 14
75| % |125| 4| M8X70|158001648 | 21| 79| 123| 119| 16
75 11125| 4| M8X70(158 001649 | 27| 79| 123| 125| 19
75| 1%|125| 4| M8X70|158001651 | 42| 79| 123| 129| 21
75| 1%|125| 4| M8X70|158001650 | 35| 79| 123| 129| 21
75 2|125| 4| M8X70(|158001652 | 53| 79| 123| 135 24
90| %[125| 4| M8X70|158001653 | 16| 87| 138| 129| 14
90| %|125| 4| M8X70|158001654 | 21| 87| 138| 133| 16
90 11125| 4| M8X70[158 001655 | 27| 87| 138| 139| 19
90| 1%[125| 4| M8X70|158001657 | 35| 87| 138| 145| 21
90| 1%|125| 4| M8X70|158001656 | 42| 87| 138| 145 21
90 2|125| 4| M8X70|158 001658 | 53| 87| 138| 151| 24
110| % |125| 4| M8X70|158 001659 | 15| 99| 152| 169| 23
110|  %|125| 4| M8X70|158 001660 | 20| 99| 152| 169| 23
110 11125 4| M8X70(158 001661 | 26| 99| 152| 169| 23
110| 1%|125| 4| M8X70|158 001663 | 35| 99| 152| 169| 23
110| 1%[12,5| 4|M8X70|158001662 | 41| 99| 152| 169| 23
110 2|125| 4| M8X70|158 001664 | 51| 99| 152| 169| 23
125| % |125| 4| M8X70|158 001665 | 15| 101| 166| 189| 24
125|  %|125| 4| M8X70|158 001666 | 20| 101| 166| 189| 24
125 1112.5| 4| M8X70 (158001667 | 26| 101| 166| 189| 24
125| 1%[125| 4| M8X70|158001669 | 35| 101| 166| 188| 23
125| 1%|125| 4| M8X70|158 001668 | 41| 101| 166| 188| 23
125 2/125| 4| M8X70|158 001670 | 50| 101| 166| 188| 23

(G-



550 - Black clamp saddles with O-ring gasket and
galvanized bolts and nuts (PN10)

® Note: sale in full box (GP) only
e B = No. of bolts

e M = bolt type
d [Rp |PN [B |M Code di L L1 |H |H1
[mm] | [inch] [mm] | [mm] | [mm] | [mm] | [mm]
25| %| 10| 2| M6X35[158001270 | 13| 36| 75| 50| 17
"] 25| %| 10| 2| M6X35[158001271 | 13| 36| 75| 52| 19
- 32| %| 10| 2|M6Xx35(158001272 | 13| 45| 80| 60| 17
| i 32|  %| 10| 2| M6X35(158001273 | 13| 45| 80| 62| 19
40| | 10| 2|M6X35|158001274 | 15| 45| 80| 68| 17
s . T 40| %| 10| 2| M6X35[158001275 | 20| 45| 80| 70| 19
40 1| 10| 2| M6X35|158001276 | 20| 45| 80| 70| 19
. 50| %| 10| 2| M6Xx35(158001277 | 15| 46| 80| 78| 17
- - 50| %| 10| 2| M6X35[158001278 | 22| 46| 80| 80| 19
. Sl : 50 1] 10| 2| M6X35(158001279 | 28| 46| 80| 80| 19
63| | 10| 4| M8X60[158001280 | 15| 60| 100| 90| 17
63| %| 10| 4| M8X60[158001281 | 22| 60| 100 92| 19
63 1| 10| 4| M8X60|158001282 | 28| 60| 100| 92| 19
75| %| 10| 4| M8X60[158 001283 | 15| 80| 110| 110| 17
75|  %| 10| 4| M8X60[158001284 | 22| 80| 110| 112| 19
75 1| 10| 4| M8X60|158001285 | 28| 80| 110| 112| 19
75| 1%| 10| 4| M8X60[158001287 | 35| 80| 110| 116| 23
75| 1%| 10| 4| M8X60|158 001286 | 41| 80| 110| 116| 23
90| %| 10| 4| M8X70[158001288 | 15| 80| 125| 123| 17
90| %| 10| 4|M8X70(158001289 | 22| 80| 125| 125| 19
90 1| 10| 4| M8X70|158001290 | 28| 80| 125| 125| 19
90| 1%| 10| 4|M8X70(158001292 | 35| 80| 125| 129| 23
90| 1%| 10| 4| M8X70[158001291 | 41| 80| 125| 129| 23
110| %| 10| 4|M8X70|158001293 | 15| 82| 147| 141| 17
110|  %| 10| 4| M8X70|158001294 | 22| 82| 147| 143| 19
110 1| 10| 4| M8X70|158001295 | 28| 82| 147| 143| 19
110| 1%| 10| 4| M8X70|158001297 | 35| 82| 147| 147| 23
110| 1%| 10| 4| M8X70|158001296 | 41| 82| 147| 147| 23
110 2| 10| 4| M8X70[158001298 | 41| 82| 147| 148| 24

E e 1



560 - Double black clamp saddles with O-ring gasket
and galvanized bolts and nuts (PN10)

® Note: sale in full box (GP) only
® B = No. of bolts

® M = bolt type
d Rp |PN |[B |M Code dl |L L1 |H |H1
[mm] | [inch] [mm] | [mm] |[mm] |[mm] |[mm]
25 %] 10 2| M6X35 | 158 001 299 13| 36| 75| 67| 17
25 Y%| 10 2| M6X35 | 158 001 300 13| 36| 75| 71| 19
32 %] 10 2| M6X35|158 001 301 13| 45| 80 70 17
[i eI T : 32 Y%| 10 2| M6X35|158 001 302 13| 45| 80| 81| 19
mn I T 40 %| 10 2| M6X35|158 001 303 15| 45| 80| 85| 17
i e T g s 40 Y%| 10 2| M6X35|158 001304 | 20| 45| 80| 89| 19
4 1l T 40 11 10 2| M6X35 | 158 001 305 20| 45| 80| 89| 19
H, Wl i 50 %] 10 2| M6X35|158 001 306 15| 46| 80| 95| 17
b 50 %[ 10 2| M6X35 | 158 001 307 22| 46| 80| 99| 19
L | 50 11 10 2| M6X35|158 001 308 28| 46| 80| 99| 19
; H i 63 %] 10 4| M6X60 | 158 001 309 15| 60| 100| 107| 17
i = 63 % 10 4| M6X60 | 158 001 310 22| 60| 100| 11| 19
63 11 10 4| M6X60 | 158 001 311 28| 60| 100| 111| 19
75 %| 10 4| M6X60 | 158 001 312 15| 80| 110| 127| 17
75 % 10 4| M6X60 | 158 001 313 22| 80| 110| 131| 19
75 11 10 4| M6X60|158 001314 | 28| 80| 110| 131| 19
75| 1%| 10 4| M6X60 | 158 001 315 35| 80| 110| 139| 23
75| 1%| 10 4| M6X60 | 158 001 316 41| 80| 110| 139| 23
90 %| 10 4| M8X70|158 001 317 15| 80| 125| 140| 17
90 % 10 4| M8X70|158 001 318 22| 80| 125| 144| 19
90 11 10 4| M8X70|158 001 319 28| 80| 125| 144| 19
90| 1%| 10 4| M8X70|158 001 320 35| 80| 125| 152| 23
90| 1%| 10 4| M8X70|158 001 321 41| 80| 125| 152| 23
110 %| 10 4| M8X70 | 158 001 322 15| 82| 147| 158| 17
110 %l 10 4| M8X70|158 001 323 22| 82| 147| 162| 19
110 11 10 4| M8X70|158 301324 | 28| 82| 147| 162| 19
110 1%| 10 4| M8X70 | 158 001 325 35| 82| 147| 170| 23
110 1%| 10 4| M8X70| 158 001 326 41| 82| 147| 170| 23
110 2| 10 4| M8X70 | 158 001 327 41| 82| 147| 172| 24

(G-



+GF+



+GF+



+GF+






-.,‘.1 [ BT ..-:

.?.-Hu._'q- {:’. "

LB
i 70

1L i

by
-

Georg Fischer TPA S.r.L.

Via Bonazzi 32 - 40013 Castelmaggiore (Bo) - Italy
Phone +39 051 6324211 - Fax +39 051 6324213
tpa.ps@georgfischer.com
www.tpa.georgfischer.com

+GF+

PL119-EXP-FEB/07

GEORG FISCHER
PIPING SYSTEMS



